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1. The parts of the skeleton that are not as hard

as bones and which can be bent are called as v

(A) vertebrae

(B) carpals
JB) cartilage

(D) More than one of the above
(E) None of the above

2. In lichen, a chlorophyll-containing partne
live together.
(A) alga and a fungus
) fungus and a bacterium
(C) alga and a virus
(D) More than one of the above
(E) None of the above

female Culcx because it sits
(A) at right angle to the surface o
substratum
J(B) at an angle with substratum
(C) parallel to the surface of substratum
(D) More than one of the above
(E) None of the above

4. The most important cell type associated with
the immunity of the body is

TS

i
i

6. Large number of thin strips of black paint
are made on the surface of a convex lens of

focal length 20 cm to catch the image of
a white horse. The image will be

_ ﬁ) a horse of less brightness

(B) a zebra of black stripes
(C) a horse of black stripes
(D) More than one of the above

(E) None of the above

@Shrillness of sound is determined by

(A) velocity of sound

(B) amplitude of sound %f{W
)é;C) wavelength of sound

(D) More than one of the above
\/E) None of the above

8. Which of the following photoelectric devices
is most suitable for digital applications?

\S/’O Photodiode

(B) Photovoltaic cell

(A) RBCs =
(B) platelets

VQC) lymphocytes
(D) More than one of the above
(E) None of the above

5. Which one of the following statements
incorrect about muscles in human body?
(A) Muscles can only push the bone.
(B) Muscles work in pairs.

(C) Muscles become shorter, stiffer and
thicker when contracted.
AD) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B 2

== (C) Photoemitter

(D) More than one of the above
(E) None of the above

9. Ball bearings are used to convert static
friction into

(A) rolling friction
(B) drag

(C) sliding friction
(D) More than one of the above

(E) None of the above
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10.

11.

A goalkeeper in a game of football pulls his
hands backwards after holding the ball shot
at the goal. This enables the goalkeeper to

\/(K) decrease the rate of change of
momentum

(B) exert large force on the ball

(C) increase the force exerted by the ball
on hands

(D) More than one of the above
(E) None of the above
Which among the following is a positively

charged particle emitted by a radioactive
element? '

(A) Cathode ray

(B) Beta ray
S
\/(E) Alpha ray gﬂ@

(D) More than one of the above

(E) None of the above

12. Centripetal force is responsible to

- ——erEEE T T T T T

(A) independent motion of the object in
space -

(B) keep the body moving along the circular
path v

(C) fly the object along a straight line
) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-B

13. Which of the following energy changes

14,

involves frictional force?

\}A) Kinetic energy to heat energy

(B) Potential energy to sound energy

(C) Chemical energy to heat energy

(D) More than one of the above

(E) None of the above

A bus is moving along a straight path and

takes a sharp turn to the right side suddenly.
The passengers sitting in the bus will

(A) bent towards right side

(B) fall in the forward direction

‘/@f) bent towards left side

15.

(D) More than one of the above

(E) None of the above

Before playing the orchestra in a musical
concert, a sitarist tries to adjust the tension
and pluck the string suitably. By doing so,
he/she is adjusting

\/(A) frequency of the sitar string with the

frequency of other musical instruments
(B) amplitude of sound
(C) intensity of sound
(D) More than one of the above

(E) None of the above
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16. A form of matter has no fixed shape but it has

a fixed volume. An example of this form of
matter is

'rii';':i”

(A) carbon steel

:;;'! :]

(B) krypton

{() kerosene

19. Acids react with metal carbonates to liberate

___ gas.

(A) H,

(D) More than one of the above
(E) None of the above

(D) More than one of the above

(E) None of the above

17. Some metal oxides react with acid as well as
base to produce salt and water. They are
known as amphoteric oxides. The examples
of amphoteric oxides are =

i
I

(A) CuO and ZnO
(B) Al,O3 and ZnO
(C) Al;O3 and CuO
VLB) More than one of the above

(E) None of the above

H\‘.':;” it
h|

.20. Which acid is described as HOOCCOOH ?

£ (A) Carbonic acid C!—J‘g Coold

‘(}/ Oxalic acid

(C) Acetic acid ¢ ot ~ C‘,_EE}BU’
—

(D) More than one of the above

(E) None of the above

21. You have been provided with three test tubes.
One of them contains distilled water and
the other two contain an acidic solution and
a basic solution, respectively. Which of them
will turn red litmus to blue?

(A) Distilled water

Ml

18. Which gas contributes to global warmings{== (D) More than one of the above

through its greenhouse effect?
(A) Carbon dioxide

(B) Nitrous oxide

(C) Methane

JIS) More than one of the above

(E) None of the above

. The odour of acetic acid resembles that of

' J/K) vinegar

(B) tomato

*Z  (C) kerosene

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-B 6

(E) None of the above
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Why does dry HCl gas mot change the
colour of dry litmus paper?

(A) HCI gas acts as a dehydrating agent.

(B) Blue litmus becomes dry in the presence
of dry HCI gas.

(C) No H30O" ions are present. Litmus
changes colour only in the presence of

H;0" ions.
(D) More than one of the above

(E) None of the above

24, Detect the odd one.
(A) Ripening of fruit
‘(?) Setting of cement
(C) Burning of coal
(D) More than one of the above

(E) None of the above

25. Which of the following statements about
diamond and graphite is true?

%) They have same electrical conductivity.
(B) They have same crystal structure.
@!'am
3}%’% (C) They have same degree of hardness.
(D) More than one of the above
\ﬁ) None of the above

02/FH/CC/PT-2023/144-B

26. The stomata open or close due to change
in the
(A) position of nucleus in cells
(B) protein composition of cells
_\}Q) amount of water in cells
(D) More than one of the above
(E) None of the above
27. Chlorophyll absorbs ___ wavelengths of

the, sunlight.
) red and blue

(B) green and blue
(C) green and red
(D) More than one of the above
(E) None of the above
28. Which of the following is mot a correct
match?
(A) Petiole : Attaches leaf to stem
(B) Thick, hard stem with branching near

base : Tree

\(}2)’ Weak stem which cannot stand upright :
Creeper
(D) More than one of the above
(E) None of the above
29. Water reaches great heights in trees because

of suction pull caused by
(A) evaporation
(B) absorption

ba?f)‘ transpiration
(D) More than one of the above
(E) None of the above

30. Which among the following is a character
of chloroplast which makes them qualified

to self-replication?
AT Presence of both DNA and RNA

(B) Presence of DNA only
(C) Absence of RNA
(D) More than one of the above

(E) None of the above
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31. How many words, no matter if they are"

meaningless, can be formed by the Iettersf '

of the word ‘DIARY"? (\;

(A) 24 @ 7 A
) PN N

®) S ), &6

© 10 7

(D) More than one of the above
V(E) None of the above

@Select the missing I‘glmber from the giver;:'_i:

alternatives : « 4t =+ =

44 [ 49 | 37 |- g
Sl e T :
\6[_\ L%sz ? 41)]\1, \L\E)

58 (35|53

(A) 66 e SO :
\

®) 56 \'7)

©) 77 Vv

(D) More than one of the above

(E) None of the above

@Find the missing number in the given series

following the same pattern :
. l‘(r\
15, 20, 32, 62, 118, 248, ? ,V(Q
St % S6 A
A) 428 Y,
& “\,’\"' "‘5
(B) 322 5.\,,4
(©) 368 o

(D) More than one of the above

AST Bl
é®®®®%

'_"'ln a code language, if FAST@R is written
7 as 2229212319 and MONK is written as

e

15161412, then how will GUIDE be written

in the same language? WO o W
(A) 192019423 i s b
(B) 212219523 ®Y
)
7

(C) 222119522 >{5
(D) More than one of the above

== (E) None of the above

26 cm. Its sides (in cm) are

\j‘() 10, 3 \,*F\O x>
_ e
®) 5.6 )A\*“

(D) More than one of the above

1 J:‘

©) 2,15

(E) None of the above

?EEEA shopkeeper offers 10% discount on

an item with marked price £400. If he
charges 10% GST, then the final price of
the item is

(E) None of the above

02/FH/CC/PT-2023/144-B 10

e o G TN Al At P E v e
i H

(A) T380 A 4-:3’0
% (B) T400 b 350 |
\rFs
(D) More than one of the above
(E) None of the above
[ Contd.
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31, 7 ‘DIARY’ & el 3} fred v
m%aﬁﬁﬂﬁﬁmma? B

(A) 24

(B) 5

() 10

@) 4% § A = ¥ s
() I H | i T

32, feu e Pt 4 qu W 7 g

44 149 | 37
5217 (41
58135153

(A) 66

(B) 56

©) 77

(D) 3T & T & AR

(E) 3 & & 1§ Tl
33, 9 7 sjaen § WA Yok F S F T

HeEAT I HIT -

15, 20, 32, 62, 118, 248, 7

(A) 428

(B) 322

(C) 368

(D) I & A T @
(E) vgw # & Hié T

02/FH/CC/PT-2023/144B

34, et gz wmn & afd FASTER F 2229212319
fray % iR MONK I 15161412 fraEd %,
21 GUIDE & 38 w1 & 4 ferdn?

— = (A) 192019423

(B) 212219523

(C) 222119522

() s A o

E) i # @ B

35.@%%%3%30@?%0%%3?«
ﬂﬂﬁﬂ%ﬁotﬁc’%l'ﬂﬂﬁﬂﬁﬁ(ﬁOﬁOﬁ)%‘

i

(A) 10,3

i

®) 5,6

©) 2,15

(D) 39w # ¥ w% | At

(B) 39w 4 4 15 T

36. ™ gEMeR fRE awg WO10% H g W@

t e sifea gea 400 ) IR w8 10%
o o Ao S 2, N IW weg F ARW A

o= WY

S (A) €380

B) ¥ 400

(©) ¥39

(D) 3% # T | A
(E) 374w § & 918 &

o ' [ Contd.



37. Arrange the following words in logical and | 39. Which of the following statements is false?
meaningful order : o
4 :

1. “iee Dresidant ¢ \’ t(}/)/Ew:ry square is a rhombus.

3](

o

President 7 :
@B’f Every square is a rectangle.

Speaker g;g;g

i
(=100 (C) Every rhombus is a parallelogram.

(98]

4. Prime Minister

wn

Members of the Parliament More than one of the above

(A) 5,1,2,3,4
(E) None of the above
(B) 4,2,1,3,5

\)@4 2,1,4,3,5
40. In a family of some persons, B says that R
(D) More than one of the above is the daughter of my sister 4, who is the
only daughter of 7. X is the child of T and Z,
(E) None of the above who is the grandmother of H. K is the mother

of M, who is the only sister of H. X is

unmarried. If S is the spouse of 4, how is K
38. Reshma donates one-fourth of her property related to S ?

to a charity organization and divides the
remaining property equally among her three

children. The part of property each child _ (X) Brother-in-law
gets is ’p

(A) half ¢ #

o
-fourth
\//} one-fou (C) Wife of brother-in-law

\

')

Q (B) Sister-in-law

by

o
(C) two-thirds Yz
q/"'a
(D) More than one of the above
(D) More than one of the above '
(E) None of the above (E) None of the above
02/FH/CC/PT-2023/144-B 12
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A) 5, 1,2,3, 4
®) 4,2, 1,3,5
©) 2, 1,4, 3,.5
(D) IHE # A & ¥ i

(E) 399 ¥ & #13 7l

38, T ST Gt - T e S

A3 & ot e g ok A I A
TR dfed B ma@@ﬁﬁmﬁﬂm
F1 97T & !\’ 1’
(A) 3 TWZ
(B) TH-hE

(€) A-forerd H f

Y
(D) = § ¥ T @ A

B) g § 4 A

13

02/FH/CC/PT-2023/144B

39, P & & - Fom e ¥
(A) Wi T T wg A R
(B) e a1 e T T 2
(©) o wage T w2
(D) 3 A A T A A

(B) I & T

40. 35 Wl % T wfEn # B Fwew @ T R
aw A B R, TR WX,
T 3in z $ gad 2, S H A /A R K,
M TR H R AN T R X
st 21 7R 5, 4 e ¥, & K
S ¥ e TR F HY ¥7

(A) A/ /ETe

(B) i/ [areh

B
X g;-tll\u__s \ Ki () et e e 1 e

(D) I A A T & o

(E) 30w ¥ | 91 T
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41. With reference to the Consumer Disputes | 44. The phrase ‘equality before law’ used i

Redressal at the district level in India, |- Article 14 of the Indian Constitution has bee,
which one of the following statements IS borrowed from the Constitution of
not correct? dfe (A) France

(A) The District Forum entertains the-|- v(é) Britain
= (C) USA

(D) More than one of the above

complaints where the value of goodé

N

or services does not exceed rupees

fifty lakhs. _j (E)¢ None of the above

(B) The State Government can establish _':1:45. What was the duration in the making of
more than one District Forum in a the Indian Constitution?
district if it deems fit. ‘/(Aﬁ' 2 years 11 months and 18 days

(C) One of the members of the District | . (B) 1 year 10 months and 12 days
Forum shall be a woman, ' (C) 2 years 10 months and 5 days
(D) More than one of the above

(E) None of the above

(D) More than one of the above
‘/(:E) None of the above

;_: 46. The Council of Ministers in a State is
! collectively responsible to
= \S}(f the Legislative Assembly
=t (B) the Chief Minister
(C) the Governor
(D) More than one of the above
(C) Gram Panchayat level ' (E) None of the above

42. At what level does a Panchayat Samiti
operate a Panchayati Raj structure? =

JA) Block-level body
(B) District level

(D) More than one of the above 47. Consider the following statements

In the post-73rd Amendment era, there has
to be decentralization of

(E) None of the above

43. Which one of the following was establlshed 1. decision-making powers

2. system.as a whole
development? 3, jﬁdicial powers

4.  administrative powers

Which of the above statements are correct?
(A) 2, 3 and 4 only

(B) 1, 2 and 3 only

(A) Cooperation Movement

JB) National Extension Service

(C) Integrated Rural Development

Programme
(C) 1, 2 and 4 only
(D) More than one of the above (D) More than one of the above
(E) None of the above v(g) None of the above
02/FH/CC/PT-2023/144-B 14 [ Condd.
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48. The representation in the Rajya Sabha
includes

(A) members nominated by the President
of India v/

(B) members directly elected by citizens ){

(C) members indirectly elected by citizens
through their representatives ./

\/{’D) More than one of the above
(E) None of the above
49. Which of the following is concerned with
the Supreme Court of India?
(A) Collegium system
(B) Appellate jurisdiction
(C) Original juris-diction
\le) More than one of the above
(E) None of the above
50. The minimum age for contesting elections
to the Panchayati Raj Institutiong should be

how many years according to the 73r4
Constitutional Amendment Act?

(A) 18 years
\/(ﬁ) 21 years
(C) 25 years
(D) More than one of the aboye

(E) None of the above

02/FH/CC/PT-2023/144-B
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51. At what percentage hag Bih
s
the lowest Female Warkforce p eslg%l

Rate for the year 2020—2022? “Icipa%

R
!
(A) 7% in rural and 9.10 in urbap , )

(B) 4% in rural and 659 in urbap e
\/(ﬁ) 6% in rural and 8:1% in urban apey,
(D) More than one of the above

(E) None of the above

52. The maximum number of tax industries is
in which district?

(A) Kishanganj
Q’ Darbhanga
(C) Purnia
(D) More than one of the above

\jﬁ) None of the above
[ an!d-
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49, Feffas § } fraw 998w ¥ war=
e ¥ 77
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B) et st &
(€) T AEFR &
(D) 37w § ¥ % 4 A
(E) 394 A & i3 T
50. 73&éﬁmﬁsﬁuﬂaﬁ‘uﬁm%mﬁﬁm

ﬁwﬁiwa@%mwmﬂm
B ST §7 -

(A) 18

(B) 214

(C) 25=d |

(D) T § A TF A A
(B) i & & H§ 7
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s1. a§ 2020-2022 ¥ fog gad Fu Afedt Fac
wﬂaﬁm%ﬁnﬁmmﬁzﬂﬁaﬁﬁﬂ??

(A) 79 Tt &t & i 9-1% e &l A
(B) 49, Trfor &t 3 3iR 6-5% el &t A

(©) 6% Trtor &t 3 3P 8:1% el &t A

[81%: 4]
Hﬁr} 2
| ""'*‘EJ(D) I AV TE A a1fers

(E) 394 & & &3 T

52. maﬂ?ﬁmﬁ?ﬂﬁ@ﬁ%?
(A) forrs
(B) T
I(C) gt

(D) IFF # A T Y

(B) 394w o ¥ 0 7
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53. According to the National Family Survey-5
released by the Union Ministry of Health and

Family Welfare on November 24, 2021, there

has been a signifi
ratio of Bihar. It has increased from

in 20152016 to ___in 2020-2022.
(A) 1030, 1050
(B) 1062, 1090
(C) 1040, 1070

(D) More than one of the above

‘;E{ None of the above

54. According to the Bihar Economic Survey
(2021-2022), what was the rate of growth
of Gross State Domestic Product (GSDP) of
Bihar in 2020-2021?

\yf 2:5%

- (B) 3%

© 2%
(D) More than one of the above =

)((g) None of the above

55. Which one of the following is correct for
Bihar economy?

(A) The occupational structure of the
economy is stagnant from above, -

(B) The growth rate is one of the lowé%t

(C) Bihar produces mostly pr:mary good
V\SW More than one of the aboye

(E) None of the above p—

02/FH/CC/PT-2023/144-B

improvement in the sex | = he
cant Imp A activity

!
P

56. Which of the followin
the SEZ Act, 20059

L

g are the objectives of

G . s
éneration of additional economic

Promotion of exports of goods and
services

3. Creation of employment

(A) 1 and 3 only
BS 1,2 and 3
(C) 2 and 3 only
(D) More than one of the above
(E) None of the above
-57. What is the policy measure adopted by the

Government of India to improve the system
of agricultural marketing?

(A) Public Distribution System (PDS)

==~ (B) Minimum Support Price (MSP)

(C) Maintenance of Buffer Stock
) More than one of the above
(E) None of the above

58. Which committee suggested the enactment
of the Competition Act, 20027

\% Vijay Kelkar Committee

(B) Rangarajan Committee
(C) S.V.S. Raghavan Committee

(D) More than one of the above

(E) None of the above
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54, foR =TfEE WG (2021-2022) ¥ srEw,

0
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i LT
™

56.
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3, Qe Fmi

(A) Fad 1 3R 3

(B) 1,233

(C) a2 ¥ 3

(D) I # A & | AH

() 3w 8 4 1S T

.y foom yoreh # guR ¥ forg uwd wER

TR0 39T T AT 9w w7

(A) gt faraor womedt (fio Sto THo)
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®) wEwdIBEE
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(A) T e wfify
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(D) 374 # A 7% & A

(B) 39w & q =1 =t
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59. Match List-I with List-II :

List-1 List-1I
a. Grey Revolution 1. Onion production

b. Pink Revolutior.t 2. Tomato and meat

production

c. Silver Revolutioty 3. Production of eggs

d. Red Revolution 4. Fertilizers
(A) a b c d
1 4 2 3
JB/ a b c d
4 1 3 2
©) a b c d
3 1 4 2

(D) More than one of the above
(E) None of the above

60. Which of the following Five-Year Plans was
focussed on Human Resource Development?

(A) Fifth
(B) First
(C) Third
(D) More than one of the above

\pE(j None of the above

61. Which of the following States of India
received the highest Foreign Direct
Investment (FDI) equity flow during April
to September 20227

\ﬁﬁ) Gujarat
(B) Karnataka
(C) Tripura
(D) More than one of the above
(E) None of the above

" 02/FH/CC/PT-2023/144-B 20
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62. In which budget did the Finance Minister
announce the Liberalized Exchange Rate
Management System?

(A) Union Budget, 1993-1994
\(Bf Union Budget, 1991-1992
(©) Union Budget, 1992-1993
_._ (D) More than one of the above
%% (E) None of the above

63. Which of the following were goals of
the Five-Year Plans?

1. Growth

2. Modernization

3. Self-reliance

4. LiteratureX

(A) 1, 2 and 4 only

(B) 1, 3 and 4 only

(C) 2, 3 and 4 only

(D) More than one of the above
\}E’) None of the above

64. Which organization carries out the survey for
determining the poverty line?
(A) RBI
) NSSO
(C) NITI Aayog
(D) More than one of the above
(E) None of the above

65. The trade balance of India (merchandise and
services) for December 2022 (provisional) is

&) () 11:98 USD billion
(B) (- 10-50 USD billion
(C) (+) 11-98 USD billion
(D) More than one of the above
(E) None of the above
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62.

63. T

64.

65.

e e 3 P 57 3 il R T
worred! &t drgon Hi?

(A) T =z, 19931994
B) afr =, 1991-1992
(©) e e, 1992-1993
(D) 313@?5 3§ @ s

(A) ¥ 1,2 34

(B) ¥ad 1, 3 3 4

(C) ¥aw 2,334

(D) 3T & & TF ¥ Ak

(E) 3w § & H1g Tl :

e a1 1 Pt F@ ¥ R S e
FIET Ll _Y

(A) 3Ro o 3MZo

(B) o THo THo 3o

(C) i smam

(D) I 7 8 T & arferw
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YA H AWK oW (o )
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(A) (<) 1198 3R= I i

B) (-) 10-50 & 3wl feR

(C) (+) 11-98 3x" F{hi e’

(D) 3% 4 A T § aAfers

(B) 39w & & e
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66. During the Salt Satyagraha in Bihar, in-

addition to making salt, the people chose=

to oppose the government by opposing which-

)éﬁa‘ Malba

(B) Haathi
(C) Development

\J(I{) More than one of the above
(E) None of the above

67. The elected Government of Bihar formed
by Shri Krishna Singh resigned in February
1938 for which reason?

(A) Satyagraha against the British at the
call of Gandhiji

b [}l

(B) Participation in the Freedom Strugglei_ =

of India :

(C) For the release of political prisoners
(D) More than one of the above -
AE) None of the above -

68. Who saved the life of Gandhiji in Bihar
during Champaran Satyagraha?
(A) Ravindra Pathak

) Batak Mian
(C) Hamid Ansari

~770. The Swadeshi and Boycott were adopted as
==  the methods of struggle for the first time

during the

(A) Home Rule Movement

(B) visit of the Simon Commission to India
‘/éé) Partition of Bengal

(D) More than one of the above

(E) None of the above

71. At the Calcutta Session of the Indian National
Congress (INC) held in 1906, the Flag of
Swaraj for India was unfurled by

« (A) G. K. Gokhale
(B) A. O. Hume
~M€) Dadabhai Naoroji
= (D) More than one of the above
(E) None of the above

=72. During the freedom struggle, a parallel
movement launched in the Indian States (in
the States ruled by the Indian rulers such as
Kashmir, Nizam’s Hyderabad, Travancore,
etc.) was

(A) Swaraj Movement
(B) Atate People’s Movement
)@g)ﬂf’raja Mandal Movemeni\j
) More than one of the abo&:/

(E) None of the above
—73. Which of the following statements regarding

(D) More than one of the above
(E) None of the above

Non-Cooperanon Movement?
(A) Shri Krishna Singh
) . Swami Vidyanand
(C) 'Raj Kumar Shukla
(D) More than one of the above

(E) None of the above

== the Indian freedom struggle is not correct?

(A) Mahatma Gandhi was arrested in the
year 1921,

(B) Gandhiji withdrew from the Non-
Cooperation Movement due to the

: Chauri-Chaura Incident.
4 ) Gandhiji gave his first major public

peech at Banaras Hindu University.
) More than one of the above
(E) None of the above
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JauuedS NIMO Yum pauueds )

66-

67.

69.
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70.
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74.

Which one of the following was a journal
brought out by Abul Kalam Azad?

(A) Zamindar [m]5%
:—:‘3 L]
il

AB) The Comrade

s(C) Al-Hilal
\/ﬂS) More than one of the above

5.

(E) None of the above

How did the study of history help in creating
a feeling of nationalism in India towards
the end of the 19th century?

(A) By urging people to struggle and change
the miserable conditions of life under
the British rule

(B) By reinterpreting history and refuting
the British portrayal of Indians as
backward, primitive and incapable of
governing themselves |

(C) By writing about India’s glorious past
and urging people to take pride in their
achievements

\,(6) More than one of the above

(E) None of the above

76. Which of the following statements are

not correct regarding the Non-Cooperation

Movement in the towns?

1. Only the upper caste and the rich took
part in the movement.

2. The council elections were boycotted
even by the Justice Party of Madras.

3. Thousands of students left government-
controlled schools, headmasters and
teachers resigned and lawyers gave up
their practice.

\W 1 and 2 only

(B) 1 and 3 only x

(C) 2 and 3 only ¥k

(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B
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77. “A Sanyasi who came to that district afte

a spell as an indentured labourer in Fijj,
carrying a copy of Tulsidas Ramayana on
his back from which he would recite verses
to rural audience.” The peasant leader
referred to here is

\(AJ Baba Ram Chandra

(B) Jhinguri Singh

(C) Yadunandan Sharma

(D) More than one of the above
(E) None of the above

78. Who was the founder of All India Harijan

Sangh in 19327
Dr. B. R. Ambedkar
(B) Jagjivan Ram

\/(C/i Mahatma Gandhi

(D) More than one of the above
(E) None of the above

79. On February 20, 1947, Prime Minister Attlee

announced the British Government’s decision
to withdraw from India latest by

& June 1948

(B) August 1947

(C) January 1948

(D) More than one of the above
(E) None of the above

80. Who established Swaraj Dal in Bihar?

(A) Bankim Chandra Mitra
(B) Shri Krishna Singh

AC) Ramlal Shah

(D) More than one of the above
(E) None of the above
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71.

78.

79.

80.
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Wwﬂ@maﬁmm,ﬁmﬁ
% T Aedt @ 92 g @) R
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siter R B w9 i T 1932 F e
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(A) o o Ao FETH
(B) SATSigd T

(C) werem T
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(E) 39w & ¥ =I5 7

20 wad, 1947 Ft FUEEEH TRl 3 ARG 9
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#i oft?
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(B) TG 1947
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(D) 39 & & % A A
(E) 39w # R ¥ 7
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(A) = =3 fim

(B) i w1 fae

(C) TMETH MR
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81. Who among the following made an offer to
Humayun that he would surrender Bihar

and pay an annual tribute of 10 lakh dinars: |

if he was allowed to retain Bengal?
(A) Bahadur Shah
\}B{ Sher Khan
(C) Bairam Khan
(D) More than one of the above

(E) None of the above

i

82. The Vikramshila University was establishec

= (&Y Padri Ki Haveli

84. Who was the author of Mahatma Gangy;
and Bihar, Some Reminiscences ?

(A) Dr. Rajendra Prasad

(B) J. P. Narayan

\/(67 Karpoori Thakur

(D) More than one of the above

(E) None of the above

_85. Which is the oldest church in Bihar?

by

M, ™

(A) Gopala

\96\ Dharmapala

(C) Devapala

(D) More than one of the above

(E) None of the above

83. Who among the followh!g was the first K

Governor of Bihar?

\/(/({' Sir Maurice Garnier Hallett
(B) Sir James David Sifton
(C) Sir Hugh Dow

(D) More than one of the above

(E) None of the above

(B) Luke’s Church
(C) Stephen’s Church

(D) More than one of the above

iy

(E) None of the above

86. The late actor Kumudlal Ganguly, also
known by his stage name Ashok Kumar,
was born in which of the following cities
of Bihar?

(A) Patna ¥

(B) Munger

) \./(C) Bhagalpur

(D) More than one of the above

(E) None of the above
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87. In ancient times, the area to the south of

the Ganga was known as

\Sﬂd Anarta

88.

(B) Takshashila

(C) Chola

(D) More than one of the above
(E) None of the above

When did the use of iron begin in Indian
subcontinent?

(A) Around 9000 years ago

(B) Around 12000 years ago
(C) Around 6000 years ago

(D) More than one of the above

‘/EE) None of the above

89. According

to the rock
Sanskrit, composed around second century
CE, Sudarshan Lake, an artificial reservoir,

inscription in

was repaired by

(A) Harsha %j;
(B) Kanishka oW [&1¢

(C¥ Rudradaman
{lgé,)iore than one of the above
N

one of the above \/

90. The temple of Deogarh near Jhansi and the

sculptures in the temple at Garhwa near
Allahabad are the important remains of the

(A) Maurya art
Gupta art
(C) Rashtrakuta art
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B
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91.

92.

93.

In which of the following battles are the ma;,

opponents nof correctly stated?

(A) Battle of Haldighati—Maharana Pratap
and Akbar

(B) First Battle of Panipat—Babur and
Ibrahim Lodi

) Second Battle of Panipat—Tipu Sultan

and Marathas

(D) More than one of the above

(E) None of the above

During the Delhi Sultanate, the designation
‘Muqaddam or Chaudhari’ was used for
(A) village headman

revenue officials
(C) village accountant
(D) More than one of the above
(E) None of the above

Tabaqat-i-Akbari, which has been sometimes
considered more reliable than Abul Fazl’s
Akbarnama, was written by

(A) Gulbadan Begum

(B) Nizamuddin Ahmad

) Abdul Hamid Lahori

94.

(D) More than one of the above
(E) None of the above

Who among the following famous
rulers founded a suburban township of
Nagalapuram, near Vijayanagara, after his
mother’s name?

(A) Krishnadevaraya

(B) Harihara

(C) Bukka

\}Hf More than one of the above

(E) None of the above
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95. In 1940, Patma Women’'s College was
founded by which of the following societies?

(A) Sisters of the Apostolic Carmel
\}B’) Society of Jesus

(C) Irish Christian Brothers

(D) More than one of the above

(E) None of the above

96. Who among the following headed the two
Boundary Commissions set up to delineate
the international frontiers between India and
Pakistan in 19477

\}J‘)/Cyril Radcliffe

(B) A. P. Moon

(C) A. V. Alexander
(D) More than one of the above

(E) None of the above

98. In 1940, Vinoba Bhave started individuy
Satyagraha from

(A) Punnapra-Vayalar, Kerala

| \(®) Nadiad in Kheda district, Gujarat

(C) Pavnar, Maharashtra
(D) More than one of the above

(E) None of the above

. The Congress took a critical stand over the
Montford Reforms in 1918, which led to
break up with the old moderate remnants
(Sapru, Jayakar and Chintamani) who formed
the

={== \m Indian National Liberal Federation

(B) Servants of India Society
(C) Swaraj Party

(D) More than one of the above
(E) None of the above

100. The Cabinet Mission was sent to India for
which of the following?

1. To establish a national government

97.
Settlement in Bengal?

(A) Lord Hastings
(B) Lord Cornwallis

VQC)/ Holt Mackenzie

(D) More than one of the above

=

(E) None of the above

02/FH/CC/PT-2023/144-B

Who introduced the system of Mahalwariz|==

30

2

To work out a constitutional arrangement
for the transfer of power

To work out the details of Jinnah's
demand for Pakistan

(A) 3 only

:'\/{‘6)' 1 only

Xé) 2 only

(D) More than one of the above

(E) None of the above
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101. The first ‘floating solar power plant’ has been
built at which place in Bihar?

(A) Kadirabad, Darbhanga
V(B’) Dilbarpur, Darbhanga

(C) Jamalpur, Darbhanga

(D) More than one of the above

(E) None of the above

102. According to the Economic Survey for the
year 2019-2020, which district has lowest
per capita income?

(A) Sitamarhi
Veg) Sheohar
(C) Araria
(D) More than one of the above

(E) None of the above

103. According to the NITI Aayog SDG Report
for the year 2020-2021, how much did the

State of Bihar score?
(A) 52 out of 100
ﬁ} 22 out of 100
(C) 35 out of 100
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B

104. Which sport has been included in the
Khelo India Women’s Tournament for the
first time?

(A) Archery

&B’{ Cricket

(C) Track Cycling
(D) More than one of the above

(E) None of the above

105. Which of the following has been awarded
the Geographical Indication (GI) Tag in
August 20227

(A) Mithila Makhana
(B) Applique (Khatwa) Work of Bihar
(C) Sikki Grass Products of Bihar

\}D’) More than one of the above
El%E
5

(E) None of the above AR,
e

106. Which of the following has been added to
the UNESCO World Heritage List in 20227

(A) Archacological Site of Naland2
Mahavihara at Nalanda

(B) Astronomical Observatory at the Langa!
Singh College

(C) Mahabodhi Temple Complex at Bodh
Gaya

(D) More than one of the above

\/(«Eﬁ None of the above
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107. In the year 2020, Bihar gained the rank | 111. Which of the following Union Ministries

out of 36 States in the Ease of Doing recently launched the YUVA 2.0 Scheme
Business, awarded by Business Reforms in 20227
Action Plan (BRAP). (A) AYUSH Mantralay
'Xy&j 25th =2[~  (B) Health and Family Welfare Ministry
_B) 23rd s €) Education Ministry
(C) 24th = (D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

2. The Ministry of Home Affairs has completed

the Mother Tongue Survey of India (MTSI)
= in November 2022 with field videography
of the country’s how many languages?

108. Ganga Jal Aapurti Yojana was inaugurated-
by Chief Minister Nitish Kumar on_ -
November 28, 2022 at which place? '

) Bodh Gaya ) 576
(B) Lakhisarai (B) 40
(©) Rajgir ©) 233

) sfmmillepionsIvERE SHoe = (D) More than one of the above
(E) None of the above ==

=7 (E) None of the above

i b

l’-ﬂ‘HIr

109. Which of the following associations/board
declared equal pay for men and women
players in October 2022?

(A) Gujarat Cricket Association .
(B) Bihar Cricket Association g “_;:E

113. Which of the following committees
submitted a report on gas pricing,
recommending complete pricing  freedom
from January 1, 20262

.|!_|=

A . . "
wfcf Board of Control for Cricket in India (A) P. K. Mohanty Cc:mmlttee
(D) More than one of the above (B) A':“_“ Goel Committee
(E) None of the above \_ﬁe(Klflt Parikh Committee
(D) More than one of the above

110. The urbanization of the State has 1ncrease§

very rapidly in the last ten years, Accordings[==

to the 2011 Census, the level of urbanization=l=l14. Which of the following cities was not
in Bihar was just percent, which h

conferred with five-star garbage-free city
increased to percent at present. rank according to Swachh Survekshan, 20227

(E) None of the above

(A) 144, 15-5 (A) Navi Mumbaij
BT 113, 153 (B) Surat
(©) 122, 131

\,ECT Bhopal

(D) More thari one of the above
(E) None of the aboye

(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B
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115. The Prime Minister inaugurated the first
greenfield airport ‘Donyi Polo Airport’ in
which of the following locations?

(A) Dibrugarh
V(,B) Dholka
(C) Itanagar
(D) More than one of the above

(E) None of the above

116. Which animal has been approved as a food
animal by the Food Safety and Standards
Authority of India (FSSAI) in November
20227

(A) Himalayan tahr
(B) Himalayan yak
L(f,)/ Mountain goat
(D) More than one of the above

(E) None of the above
]
_ Hclal
117.) India’s first floating financial literacy camp
was organized recently by India Post
Payments Bank in which of the following
locations?

(A) Kerala

(B) Srinagar

VGC)/, Andaman Islands

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-B
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118. The President of India inaugurated ‘PARAM
KAMRUPA’> Supercomputer facility at
which of the following II1Ts?

(AY Guwahati

(B) Kharagpur
(C) Bombay
(D) More than one of the above
(E) None of the above
119. In the 90th Indian Air Force Day, celebrated
on 8th October, 2022, an hour-long air

display of eighty aircrafts was carried out
over which of the following locations?

(A) Sukhna Lake, Chandigarh
(B) Gateway of India, Mumbai
(C) Dal Lake, Jammu and Kashmir

(D) More than one of the above

V({) None of the above

120. Which month of the year is celebrated as
Rashtriya Poshan Maah or National Nutrition
Month under the Poshan Abhiyaan of the
Government of India?

(A) July

(B) May

\}L’)/v September

(D) More than one of the above

(E) None of the above
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121. What is the name of recently launched final | 125. Which of the following laboratories claimed

module of China’s Tiangong Space Station?
(A) Mengtian
(B) Tianhe
\}E‘) Wentian
(D) More than one of the above

(E) None of the above

122. Which of the following is the world’s largest |
voleano erupted for the first time in 38 years?

) Haleakala
(B) Mount St. Helens
\}é) Mauna Loa
(D) More than one of the above
(E) None of the above

a historic nuclear fusion breakthrough in
December 20227?

S \/(A? Los Alamos National Laboratory

(B) Lawrence Livermore National
Laboratory

(C) Oak Ridge National Laboratory
= (D) More than one of the above

(E) None of the above

—-|-126. Which of the following is Collins
Dictionary’s word of the year 20227

== (A) Lawfare

123. Who among the following recently received=|— DEB/)‘ Permacrisis

the 2022 Booker Prize for his novel, 1 =

The Seven Moons of Maali Almeida ?
(A) Shehan Karunatilaka
\pB{) Michael Ondaatje
(C) Pradeep Mathew
(D) More than one of the above
(E) None of the above

124. What was the theme of the World Space

Week, 20227

\/(A/) Space and Sustainability
(B) Women in Space
(C) Satellites Improve Life
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B

(C) Carolean

(D) More than one of the above

(E) None of the above

=:[7127. Which of the following countries, along with

====  Senegal, launched the International Drought
Resilience Alliance during COP27 ?

©) .L- Germany

(D) More than one of the above

(E) None of the aboye

38
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128. The Embassy of which country applied for
a Gl Tag for ‘Nihonshu’ for the first time
in India?

(A) South Korea

(D) More than one of the above
(E) None of the above
129. Which of the following space agencies

announced that it had successfully used
steam to propel its EQUULEUS spacecraft?

(A) JAXA ayy
—— =
(C) SUPARCO

(D) More than one of the above

\/g None of the above

130. What is the name of Tesla humanoid robot
launched in October 20227

(A) Pepper
\/(é) Optimus
(C) Atlas
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B
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131. Which of the following States of India
borders with the maximum number of

districts in Bihar?
(&) West Bengal Y/
) Uttar Pradesh
(C) Jharkhand
(D) More than one of the above
(E) None of the above

132. Which of the following is the last railway
station of Bihar in the train route from
Bhagalpur towards Mirza Cheuki?

(A) Kahalgaon Railway Station

\,GB{ Pirpainti Railway Station
(C) Ammapali Railway Station
(D) More than one of the above
(E) None of the above

133. With reference to the mineral production
in Bihar, consider the following statements :

. Rohtas has the highest deposit of
pyrites,

2. Limestone is found in  Kaimur
(Bhabhua), Munger (Monghyr) and

Rohtas districts.

3. Gold deposits are found in Jamui
district.

Which .of the statements given above is/are
correct?

AS 1 and 3 only
(B) 3 only
(C) 1 and 2 only

(D) More than one of the above
(E) None of the above
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130. aﬁa{2022ﬁﬁﬁlﬁ?ﬂi“‘lmwm
=1 1 A 87

(C) Y™
(D) 3 § & T A A
(E) 3w & & H5 T
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131, W & Pt § 4 frg Tea ) @ RER
1 arftram frell @ @l 27

(A) wfEm =mE

(B) I W

(C) ¥rEs

(D) 3§ A @ A AE
€) g § § FHE T

132.

(C) S B IRGCR AL
(D) Wﬁﬁ@am
E) v d 2B T
133, o & @i s & W #, Feafoted
FoA! T f=m Hifv
1. g | qEUSE H FAiUE WeR 21

2. TR @ (s, GO e
ot o yrn <t R

3. g et § 91 F vier U - R

I H A BT/ T T 2/R?
(A) a1 3R 3

(B) %ad 3

(C) a1 3R 2

(D) 39 H | 0% | At

(E) Swim A q a7
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138. In the end of its mountainous journey "
Attock, the Indus River is joined by Whi
river from Afghanistan?

A) Helmand River

\}A{ Mohana and Lilajan rivers (B) Amu Darya

(B) Lilajan and Son rivers =7 V(C')’ Kabul River

(D) More than one of the above

(E) None of the above

134, Phalgu, a sacred river flowing in Bihar,
is formed by the confluence of which of
the following rivers?

(C) Son and Mohana rivers
(D) More than one of the above

-;::39. Which one of the following is the well.
(E) None of the above

publicised wildlife campaign in the world

=% d in 19737
135. In Bihar, tea gardens were established for the=|= launched in

— == 1 t
first time in which of the following places?™| = (A Sun.derbalfs Projec
il S ) Project Tiger

53] (Stipend (C) . Lion Project

(?)/Thakurganj (D) More than one of the above

(C) Bahadurganj (E) None of the above

(D) More than one of the above ==|=140. Which of the following statements is trye

il

about troposphere?
(E) None of the above = \(K Its average height is 13 km.
(B) Itis the topmost layer of the atmosphere,
(C) The temperature at this layer increases
with the height.
(D) More than one of the above
(E) None of the above

141. The southern continent broken from Pangaea
(C) Madhepura < Kishanganj < Siwan is called
(D) More than one of the above (A) Pacific Ocean

Laurasi
(E) None of the above == ® Laurasia
) Gondwanaland

(D) More than one of the above
agro-based industries in Bihar? : g:"g = (E) None of the above

gu 42- H . l‘ca
JA) Sugarcane industry = The Arctic region and the Antarcli

. continent are situated near
(B) Cereal-based industry = (A) the Amazon Basin

= V“? the Sahara Desert

C) the North and South Poles
(D) More than one of the above
(E) None of the above

136. Choose the correct order of the followin
districts of Bihar as per the ascending decadil

population growth (2001-2011).
‘/5 Kishanganj < Madhepura < Siwan

(B) Siwan < Kishanganj < Madhepura

Wiyl 'Hhurt!“l

(C) Pulses industry
(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-B i o
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134, e H 9E7 ATl o T v et 4 2
fir et & T A S 37

(A) Hre 3R ferem T
(B) @M 3R §1 7@
(C) | 3R A 7
(D) 39 & | F ¥ At
(E) ST A A FK T

'135.ﬁanﬁﬁtr%ﬁ§aﬁ%%qmmqﬁﬁan

19 SITET 6t T S TEe
(A) gis

(B) 3EFTH

(C) =EIgT™

(D) :ﬂg{?ﬁﬁﬁ@ﬁaﬂ%

(E) 39w § | =I5 el
136. faern ¥ fPefafes Rt = arrﬂﬁamu

e giE (2001-2011) % FER €
g

(A) TrTT < 7OQU < W™

(B) Hram < Ry < BAga

(©) 78gU < e < dEm

(D) 3Ioft & A TF § e

(E) 394w # & #IS Tdl

137, fogm & Hfu- mﬁﬁa@ﬁﬁﬁﬂwm'ﬂ

T 37

(A) = &

(B) SFTSI-anIRa I&
(C) < Jam

(D) 37w & & T A M
(E) g # & #IE 7E
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138.

oreid s werd amn % eid # @Y el
R 6 fra 78 @ gt /7

(A) Fee 7@

(B) oy <fen

(C) Fga 7

(D) 37 & & wF @ A

(E) 3T & & FK T

Prfirfm § @ Fm-ar foe # gERA TN
a1 R, £ 1973 § F& T 7@ A7

(A) Gera TRAS

(B) Wi TR

(C) E T

(D) acrg'fﬁﬁ@f@%aﬂﬁiﬁ

(E) mﬂ?ﬁﬁﬁaﬁﬁ?ﬁﬁ

.aﬂnﬁm%aﬁﬁﬁnﬁaﬁaﬁﬁﬁﬁ“-mw

e 27

(A) g shea FaE 131%50 o R

(B) W& ATgHed @ I 9 B

(C) wmwwm%mwmél

: (D) 394w # ¥ TF | AfEE

(E) 39gw § | 1§ &1

. Uforn @ 22 gu 2fRmf werEm @t @ wEd 27

(A) "9IId HETEPR

(B) wRfirn

(C) Tisamie

(D) 3w # A T § Al
(E) ST H J =1 7

oo &7

(A) HSH SRE

(B) w&w feam

(C) sl 3R <faft ya
(D) 394 | ¥ T | At
(E) 37 4 | FK T
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143. Which States of India have common border
with Myanmar? :
(A), Manipur, Mizoram, Nagaland, Trlp'ura
\}3{ Arunachal Pradesh, Nagaland, Manipur,
Mizoram
(C) Arunachal Pradesh, Assam, Manipur,
Mizoram
(D) More than one of the above
(E) None of the above

144. Which one of the following is the world’s
richest region from a marine biodiversity
perspective, comprising 21 islands with
estuaries, beaches, forests of the nearshore
environment, seagrasses, coral reefs, salt
marshes and mangroves?

(A) , Sunderbans Biosphere Reserve
\g,B{ Gulf of Mannar Biosphere Reserve

(C) Nanda Devi Biosphere Reserve

(D) More than one of the above

(E) None of the above

145. In which type of climatic region do Uttar
Pradesh and Bihar fall as per Koppen’s
classification scheme?

(A) Dfc

(B) Cwg E!-E]
\(?]' Aw a\?é?‘gl

(D) More than one of the above
(E) None of the above

146. India’s territorial limit extends towards the
sea up to how many nautical miles/km from
the coast?

(A) 10 nautical miles (about 19-9 km)

(B) 16 nautical miles (about 25-9 km)
J(,() 12 nautical miles (about 21.9 km)

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-B i

147. Which of the fol.lowing river Valleys i Tih
in coal reserves in India?
(A) Mahanadi River Valley
\/eﬂ) Damodar River Valley
(C) Son River Valley
(D) More than one of the aboye

(E) None of the above

148. Which of the following statements ;g
true about sugar industry in Indjg?

(A) Uttar Pradesh is the second largest
producer of sugar.

(B) It is a weight-losing industry.

(C) Mabharashtra has emerged as a leading
sugar producer in the country.

Vé) More than one of the above
(E) None of the above

149. Towards the end of summer, there are
pre-monsoon showers which are a common
phenomenon in Kerala and coastal areas of
Karnataka. Locally, they are known as

(A) Mango showers v
(B) Blossom showers +/
(C) Norwesters
k,('Df More than one of the above
(E) None of the above

150. The atmosphere is mainly heated by the
long-wave terrestrial radiation v/

(B) short-wave solar radiation

(C) reflected solar radiation X
W7" More than one of the above
(E) None of the above
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144.

145.

146.

firerdt €7

(A) wRTg, fisivm, e, g

(B) TS WeHI, ATTRNE, WTR, fm
(C) SrEvT=d o, 3w, g, frsie
(D) 3w % AT § i

() I 3 4 AR

frfafgs # @ FF- 9 Sa Rfawa &
Tfewm ¥ g F A e A R, o
Sareegd, WA W, el wiam % s,
Fﬂﬁm,mw,wmaﬂtiﬂﬁ
¥ @ 21 99 Wi

(A) Wﬂﬁ@mm

(B) mmﬁmm

(C) a1 ¥t arivehrR fod

(D) 3w # 4T A

(E) 394 # | =18 &

S 6 i A AR IR R
fore R R % oAy Waw H 3 &7

(A) Dfc

(B) Cwg

(C) Aw

() 3w 3 T Q
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Hho o wR 1 i efl g§ 87

(A) 10 7 et (e 199 Fro o)
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148.
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(A) TEMHE 74t =11l

(B) MR a1 71

(C) ®F T =1l

(D) 5w A T A A

(E) 37 & & HIE T

R R

Fr-a1 F9 98 87

(A) o s <fet 1 0 R S

(B) g < 9 O a1 A B

(C)Wwﬁm;ﬂﬂm%mﬁ
I 2

(D) s I A T @ AE

(E) sqﬂ?ﬁﬁ'ﬁaﬁgq'tﬁ

s % i 8 s ) e & <A o

iz & adg &gt § us g gen R W@
T w9 & TR AW @ S S 87

(a) FhwmEE [
(B). =t T EHE
(C) -awd

(D) 3§ 3 T @ i
(E) 394w § ¥ 1§ T
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S. The representation in  the Rajya Sabha

ritution has been includes

Article 14 of the Indian Cons

borrowed from the Constitution of
(A) members directly elected by citizens

(A) Britain
(B) USA (B) members indirectly elected by citizens
(C) France through their representatives

(C) members nominated by the President
of India

(D) More than one of the above
(E) None of the above

2. What was the duration in the m

the Indian Constitution?
(A) 1 year 10 months and 12 days

(B) 2 years 10 months and 5 days
(C) 2 years 11 months and 18 days

aking of
(D) More than one of the above

(E) None of the above

(D) More than one of the above 6. Which of the following is concerned with
(E) None of the above the Supreme Court of India?

The Council of Ministers in a State is
collectively responsible to

(A) the Chief Minister

(B) the Governor
(C) the Legislative Assembly

(D) More than one of the above
(E) None of the above

(A) Appellate jurisdiction
(B) Original jurisdiction

(C) Collegium system

(D) More than one of the above

(E) None of the above

4. Consider the following statements
In the post-73rd Amendment era, there has
to be decentralization of
1. decision-making powers
2. system as a whole
3. Jjudicial powers
4. administrative powers
Which of the above statements are correct?
(A) 1, 2 and 3 only
(B) 1, 2 and 4 only
(C) 2, 3 and 4 only
(D) More than one of the ahqy,
(E) None of the above

The minimum age for contesting elections
to the Panchayati Raj Institutions should be
how many years according to the 73rd
Constitutional Amendment Act?

(A) 21 years
(B) 25 years
(C) 18 years
(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A
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1. WR Hiaum F e 14 B foan gan ‘Fr
:?wam'm%m%ﬁﬁmﬂ%mw
(A) T2
(B) Fo THe To
(C) %™
(D) W% 4 & & } HuF
(E) 394 8 @ %15 78

7. YA wiagR #1991 3 fFan g5 am?
(A) 1ad 10 = i 12 f&

(B) 2 ad 10 Wre iR 5 fA

©) 234 11 e o 18 A

(D) 39 # @ 0% & AU

(E) 394 & @ F1§ T
3.nwanfrﬁwﬂﬂqwgfé$ahmﬁm%srﬁ

T 7

(A) Fe

(B) T4

(€) faum-ma

(D)mﬁﬁﬁﬁ@ﬁﬂf‘%

(E) 794 & & #1¢ T

4 erER v
wﬁﬁﬁﬁq—%waﬁﬁ?
(A) ¥ 1,233

B) ¥ 1,2 4

(©) ¥a@2, 3 34

(D) ﬂﬁ?ﬁﬁﬂ@ﬁm
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e A 2

(C) e Fomet
(D) I o A U AiE
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Fnaf § g @9l & forg AgEan el o
B ST 7
(A) 21 a4
(B) 25 ad
(C) 1824
(D) 3% 4 § ws & A=
() 374 & @ 7 76
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(‘8. With reference 1
“—Redressal at the

10,

Consumer Disputcs

gistrict level ;e:'::i?;

which one of the following stat

not correct? Go‘,cmmc“t cofl eslal')lish

E Thie S:::I one District Forum In a
:::trict if it deems fit.

(B) One of the members of the District
Forum shall be a woman:

(C) The District Forum entertains  the

complaints where the value of goods;
or services does not exceed rl.lpee:lg

fifty lakhs.
(D) More than one of the above
(E) None of the above

. At what level does a Panchayat Samiti

operate a Panchayati Raj structure?
(A) District level

(B) Gram Panchayat level

(C) Block-level body

(D) More than one of the above
(E) None of the above

Which one of the following wag established
as the first programme of

Ommuni
development? .
A 4 > H 5
(A) National Extensjop Service

(B) Integrated Rura|
Programme DeVe!opmen(

(C) Cooperation Movemeng

(D) More than one of the aboye

(E) None of the above

{}2:‘FH!CCJ'PT—2023I 144-A

L

13.

(1 1. Which of the following are the objectives of

the SEZ Act, 20057

1. Generation of additional economic
activity

2. Promotion of exports of goods and
services

3. Creation of employment

(A) 1,2 and 3

(B) 2 and 3 only

(C) 1 and 3 only

(D) More than one of the above
(E) None of the above

What is the policy measure adopted by the

Government of India to improve the system

of agricultural marketing?

(A) Minimum Support Price (MSP)
(B) Maintenance of Buffer Stock

(C) Public Distribution System (PDS)
(D) More than one of the above

(E) None of the above

Which committee suggested the enactment
of the Competition Act, 2002?

(A) Rangarajan Committee

(B) S. V. S. Raghavan Committee ©) ®
(C) Vijay Kelkar Committee (D) -
(D) More than one of the above
(E)
(E) None of the above
02/FH/CC
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wed @ frafafas @ @ #13-7 F93 wd oft 27
| e s fafafien ® e

(A) T g@R A 3@ w9 A & B A -
w A dvE 5 wm f e w 2. a@aﬁaﬂzﬁmaﬁ%ﬁuﬁaﬂm
S 3. Tremm fmi

) foen FrE ¥ weE A A o wfeen g

(A) 1,2 303
- 1::32;? ﬁﬁ:ar;ﬁ Wmﬁﬁaﬂmmaé () S 2
T & s T8 8 e (C) Faa 1 33
(D) 3T 4 A T A A (D) 3w 3 A TF A AF
() 794w # A FE T (E) 37 & & 1§ T
o, v G W R W W CE S T | 12, g s e § gum F fo s s
T F A A R TR AR T Ao Iam @ 27
(A) fen (A) AR G e (THe THe o)
(B) 7MW =4 w (B) 9% RfF I @@
(C) wAiE-wia fFm (C) WA faaror worred (dle o THe)
@)Wjﬁﬁﬂ@ﬂm (D) 39t # & uF A sifuh
(E) e & @ 1§ 7 (B) 3ueh o @ 14 e
10 feferfan # @ bR wgem fem ¥ wea | 13, fre wfifa 3 wfoeei sfufem, 2002
#dFn F w9 § wfya e @ sifufiafia 0 % g fa?
(A) e faam @ (A) TUsH wifa
(B) W o fakrm ardem (B) e dlo uio e wfufa
(€) FEdm e (©) frsa e whify
(D) 39 & & 0% } il (D) 394 4 | uw Q firw
(B) I A R i et (E) 3% & & %18 7t
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17. i
In which budget dig

g with List1T
announce the Liberalj

14. Match Lis he Finance Mipigr.

List-IT
| zed Exch
List-1 . Onion P roduction Managemem System? ange Rate
o Grey Revoih — * g meat ((g) Union Budget, 199199,
) Union Budger, 1991993

o

: 2.
. Pink Revolution prod uction

 production of eggs €) Union Budget, 1993-1994

. Silver Revolution D
ilve (D) More than one of the above

¢
. _ Fertilizers
d. Red Revolution (E) None of the above
d
(A)a b 18. Whi
a1 2 ' \:hlcb of the following were goals of
Ba b ¢ o R Four Elgip
3 1 4 2 . Growth
Cix & ¢ d 2. Modernization
1 4 2 3 3. Self-reliance

4. Literature

(D) More than one of the above
(A) 1,3 and 4 only

(E) None of the above
(B) 2, 3 and 4 only
15. Which of the following Five-Year Plans was (C) 1,2 and 4 only
focussed on Human Resource Development? (D) More than one of the above
(A) First (E) None of the above
(B) Third
©) Fifth 19. Which organization carries out the survey for
determining the poverty line?
(D) More than one of the above (A) NSSO
(E) None of the aboye (B) NITI Aayog
. C) RBI
16. Which of the followipg ¢ ©)
received the g g Mates of India (D) More than one of the above
ghest Foreign Direct (E) None of the above

Investment (FDIy equity f)
to September 20229

(A) Karnatak, f

oW during April |
72/6. IThe trade balance of India (merchandise and

2022 (provisional) is

(B) Tri \_~ services) for December
C - (A) () 10-50 USD billion
e (B) (+) 11:98 USD billion

(C) (-) 11:98 USD billion

the
(E) None of g, i aboye (D) More than one of the above
e

02J’FI"UCC’T'T~2023”44‘ (E) None of the above
! [ Contd.
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21. At what percentage has Bihar registereq
the lowest Female Workforce Participatioy

Rate for the year 2020-20227

(A) 4% in rural and 6:5% in urban areag

. B) 6% in rural and 8-1% in urban areas

LD

7% in rural and 9-1% in urban areas
“

Ih
wifil)

™

(D) More than one of the above

!E) None of the above

?

=

1
"y

€ maximum number
which district?

‘_ of tax industries is

ga

(A) Darbhang,
(B) Pumnia

(C) Kishanganj

(E) None of the aboye

02/ FH!CCIPT—2023} 1444

24,

25,

(D) More than one of the above

(E) None of the above

According to the Bihar Economie Survey
(2021-2022), what was the rage of Erowd

of Gross State Domestic Product (GSDP) of
Bihar in 2020-20219

(A) 3%

(B) 2%

©) 2:5%

(D) More than one of the above

(E) None of the abbve

Which one of the following is correct for
Bihar economy?

(A) The growth rate is one of the lowest

in India at 2:5%.
(B)
(&)

Bihar produces mostly primary goods.

The structure of the

economy is stagnant from above.

occupational

(D)
(E)

More than one of the above

None of the above
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21, 7 2020-2022 ¥ fom waRd FW Wk FHAA | 23, ¥ @A w4 GRER FA W g0

= for v ¢ faere A < <1 7 24 FaEm, 2021 ® FHIM T ofEw
.5 ¥ e, fgw % fom sqmma 2 #rh
1= guT gan @1 A8 2015- 20168 ®
(A) 4% T &5l # 3R 6:5% wedl &ml | a0 20202022 AR
(A) 1062, 1090
(B) 6% T &t H 3 8:1% wed &nhi A (B) 1040, 1070

(C) 1030, 1050
(D) Wﬂ?ﬁﬁﬂ@ﬁm
(E) 3% 3 & #18 T

(C) 7% rfior &t & 3w 9-1% wed &R A

(D) IT % A T W e 94, fm onRiE AU (2021-2022) F IR,
20202021 & faEgR ¥ v T 9 IR
(Gﬁoqﬂozﬁoiﬂo)zﬁﬁmm@?

() S AR (A) 3%

(B) 2%

() 2:5%

(D) 3t & A v A v
(E) I9deh # | *1§ TE

92, fuman F M fFg i@ 3 &7

(A) @M

25. ffefad 4 -m v fagr 1 srfsraen
& Wl 3§ wel R?

(B) yfefan (A) witd § wed o9 Rem @ 1 A wF & A
2:5% R

(€) T (B) foer # sty s aeqadl 1 3w
g Lk d

(QEET o —
(D) 3o # A 0F B AU R ¥ 4

D) 37 A 2w} arfers
(E) 394 &% & 1§ 7 E) 37w § 3 51

DIFICC/PT-2023/144A 9
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26.

27,

28.

29,

02/FH/CC/PT-202311 4.7

The Swadeshi and Boycott Were adopleq as
the methods of struggle for the first time

during the A
(A) visit of the Simon Commission

(B) Partition of Bengal

(C) Home Rule Movement

(D) More than one of the above

(E) None of the above

At the Calcutta Session of the Indian National
Congress (INC) held in 1906, the Flag of
Swaraj for India was unfurled by

(A) A. O. Hume

(B) Dadabhai Naoroji

(C) G. K. Gokhale

(D) More than one of the above

(E) None of the above

During the freedom struggle, a parallel
movement launched in the Indian States (in
the States ruled by the Indian rulers such as
Kashmir, Nizam’s Hyderabad, Travancore,
elc.) was

(A) State People’s Movement

(B) Praja Manda] Movement

(C) Swaraj Movement

(D) More than one of the aboye

(E) None of the above

Tuggle js not
(A) Gandhijj Withdrey from hmrrec:l?
Cooperation Movemen, ) the Non
Chauri-Chayry Incideng U¢ to the
(B) Gandhijj gave hig first
speech at Banargg Hin i 40r public
(C) Mahatma Gangh; Mversity
year 1921 Csted iy, th

(D) More thap one of
(E) None of the aboye

10

30. Which one of the

31.

32.

B

followin .
brought oy by Abu| o

(A) The Comradye
(B) Al-Hilq

(C) Zamindgy
(D) More than One of the abgye
(E) None of the above

How d'id the study of history help in Creating
a feeling of nationalism India towargs
the end of the 19th century?

(A) By reu?tferpreting history and refuting
the British portrayal of Indians a5
backward, primitive and incapable of
governing themselves

By writing about India’s glorious past
and urging people to take pride in their
achievements

(B)

By urging people to struggle and change
the miserable conditions of life under
the British rule

(D) More than one of the above

(E) None of the above

Which of the following statements are

not correct regarding the Non-Cooperation

Movement in the towns?

1. Only the upper caste and the rich took

part in the movement.

The council elections were boycotted

even by the Justice Party of Madras.

3. Thousands of students left government-
controlled schools, headmasters and
teachers resigned and lawyers gave up

their practice.
(A) 1 and 3 only

(B) 2 and 3 only

(C) 1 and 2 only

(D) More than one of the above
(E) None of the above

2
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(A) To 3o TH
(B) BT Arrsh
(C) Fo Fo TEA
(D) T94F § 4 TF A AuE
(E) 39 § & F15 TE -
)8, T WO F A T T (e,
M ¥ YoEr, TR oM Y8 ARdE
TEF W e ) § O qEHIE AR
Y& T T 91| 3@ T O
(A) T TR A
(B) T WUEA 2o
(C) @+ AR
(D) 794# 4 8 % § Afu
(E) 704 4 A %18 3]
29. wrAR @A dum # 9 § fefafaa 4 4
AW FUA G T B

(A) -4 #wE & Fro idsh 3 e
HAeTeA | vy dia form oy

(B) st 3 s1am ween wy@ widsfre s
T feg fawfaerea A faar uny
() =¥ 1921 # werem wifi &) frowa @
~ fam mn a)
(D) 394 H & % B v
(E) 374 # | H1§ F¢
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30. 3@ FAW ATAR F F fra il F I

(C) wffar
(D) I § @ T Y ATE
() I7f 1 & F13 78
lﬁmﬁ%mﬁm%ﬁ‘mﬁm
§ e B oy @ w3 PR T
Heg H17
s @ fewen, anfem o @z @ I
FO & wemd ¥ w9 # fEE FEF
G FF
(B) W@ ¥ Traweh @ F A F fEE
i dnil A I IgafRE | E FA F
TR Fh
©) fiftm e ¥ g T R
aee o wad FH & foau | 8 s
Fh
/(D)mﬁﬁﬁﬂ@ﬂﬂﬁ‘ﬁ
(E) 374 8 § #1874
32, T § srEEm SRR ¥ way § fmfatad §
A wH-8 FuF T T 77
1. oM ¥ ¥ad 3= et i anfRi 3
i foran)
2. WM @ Ry e g ot FEfe #
a1 afeswr R mn
3. TR BE A g figae ae wal #)
sie faa, wurausl s st A
gefier 2 fe i el 3 s dfERw
B @
(A) &ad | 33
(B) ¥aa 2 3in 3
(C) Faa | 3l 2
(D) 3§} v @ e
(E) 394w & § 1§ 9
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33,

34,

3s.

36.

021FH!CCWT-2023!144-A

¢ gle |
district after
. e to that
asi who cam

“A Sany abourer in Fiji,

i red |
a spell as an indentu

{ Tulsidas Ramavana on
carrying a copy ©

his back from which he would recite verses
| |
to rural audience.” The peasant leader

referred to here is

(A) Jhinguri Singh

(B) Yadunandan Sharma

(C) Baba Ram Chandra

(D) More than one of the above
(E) None of the above

Who was the founder of All India Harijan
Sangh in 1932?

(A) Jagjivan Ram

(B) Mahatma Gandhj

(C) Dr.B.R. Ambedkar

(D) More than one of the above

(E) None of the above

On February 2, 1947, Prime Minister Attlee

announced the Britjsh, Government’s decision
10 withdraw from, India Jatest by

(A) August 1947

(B) January 194¢

() June 1948
(D) More than one of ¢

he aboye

(E) None of the above

Who establisheq Swa
(A) Shrj Krishna ;
(B) Ram|a) Shah

©) Bankim, Chandr, Mitra

(D) More than ope of the above
(E) None of the aboye

raj Dal ip Bihar?
ngh

12

37. During the Salt Satyagraha in Bihar,

38.

39.

40.

m
addition o making salt, the people ch

10 oppose the governme
tax?

(A) Haathj

0Ose

nt by Opposing which

(B) Development
(C) Malba

(D) More than one of the aboye
(E) None of the aboye

The elected Government of Bihar formed

by Shri Krishna Singh resigned in February
1938 for which reason?

(A)

Participation in the Freedom

Struggle
of India

(B)
(©)

For the release of political prisoners

Satyagraha against the British at the
call of Gandhiji

(D)
(E)

More than one of the above

None of the above

Who saved the life of Gandhiji in Bihar
during Champaran Satyagraha?

(A) Batak Mian

(B) Hamid Ansari

(C) Ravindra Pathak

(D) More than one of the above

(E) None of the above

Who led cultivators in Bihar during the
Non-Cooperation Movement?

(A) Swami Vidyanand
(B) Raj Kumar Shukla
(C) Shri Krishna Singh
(D) More than one of the above
(E) None of the above



3. T R A A el g
w0 FH AR F AR W A ) by @

Faem 79T ) O 9 A o, f

(A) ¥ fie

(B) TgF=A i

(@) ;Wmlaa

(D) 39 A | & } atfrs
(E) 394 & | =1 78

s e ¥em @ A wen 1932 § fre
W H T e

(A) FTsiEA T

(B) were e v

(C) To o 3o 3eaw
(D) 37 A A wF | il
(E) 794% & & %18

20 ¥7af, 1947 F waER el 3 wra A
fafn we ) F3 7% aww R A A

fAAr

(A) 34 1947

(B) ¥mafl 1948

(C) ¥4 1948

(D) T 4 4 vF 4 wfus
(E) 34 & @ 414 7
w0 7@ A e faen @ fawd 6 o4
(A) 3o foe

(B) HATA WITR

(C) dafam =z fom

(D) 394w 4 A v% A stfuw
(E) 374 A @ #1¢ ¢
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37, % geamr % AvA faEm & A 3 9% =1
¥ w-ug qEn & g FE F# faow
#04 #1 fagea 017

(A) 7l

(B) faprm

(C) e

(D) 37 d B vF 4 s

(E) 37 # & #1§ 7

o o fire g nfea faem #1 Faifaa woFm 3
watt 1938 # fra wrm @ 3=ie 2 femn?

(A) WHa ) AEE F ARTE B 9T A F
FR

(B) TwHifaw Ffeai #1 8134 * Frm

(C) s g fafew % g v wEem
% HR

(D) 3% A A wF & i
(E) 374 & A =8 78
P <tarm e 3 2 faen & i )
EEE IR

(A) o fial

(B) ®fire s

(C) Wiz s

(D) 3% 3 A & A s

(E) 37w § A 18 4

HHE HATH F A e fren A Rl
A s A7

(A) @ fqerg

(B) TSt R Yt

(C) N ww fiye

(D) 37 3 A ve A stfis
(E) 374 3 3 2

38.

39.

40.
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41. In ancient times, the a

to the south of

the Ganga was known as

(A) Takshashila

(B
([

) Chola

) Anarta

(D) More than one of the above

(E) None of the above

N,

\

( {42. When did the use of iron begin in Indian
J
" subcontinent?

(A) Around 12000 years ago

43.

44,

(B) Around 6000 years ago
(C) Around 9000 years ago

(D) More than one of the above

(E) None of the above

Accordin g to the

» Sudarshan Lake, ap arti

Was repaired by

(A)

(B) Rudradamap,

(€)

N rein

Kanishks

Harsha

rock inscription i

46.

47.

48.

Ibrahim Lodi
(B) Second Battle of pap;
and Marathag

(C) Battle of Haldighati—y,
and Akbar

(D) More than one of the aboye
(E) None of the above

Pat—Tipy Sultan

laharana Pratap

During the Delhj Sultanate, the designation
‘Mugaddam or Chaudhari® was yseq for
(A) revenue officials

(B) village accountant

(C) village headman

(D) More than one of the above

(E) None of the above

Tabaqat-i-Akbari, which has been sometimes
considered more reliable than Abul Fazl's
Akbarnama, was written by

(A) Nizamuddin Ahmad

(B) Abdul Hamid Lahori

(C) Gulbadan Begum

(D) More than one of the above
(E) None of the above

Who among the following  famous
rulers founded a suburban township of
Nagalapuram, near Vijayanagara, after his
mother’s name?

(A) Harihara

(B) Bukka

(C) Krishnadevaraya

(D) More than one of the above



41, TR FE R T ¥ 2w A3 B #n FA | 48, Pfafaa 8 A P gg @ g Pben

(A) aefen (A) T F1 o T v 5t A
(B) =@+ (B) e #1 fidra ga—7r gea A w ¢
(C) 3 (C) TR F1 TG—FATTT FAT 3 TEA -
(D) 39 A B TF ¥ v (D) I7F # @ F 4 AE
(E) 394% 8 A ¢ 7 (E) ¥ d A #ri 7
42, EE TR | AR F WA e GE g 46, Pt W % A g W A T
zemre T fon fen s a1
(A) W@: 12000 39 &
(A) T AT
(B) Wa: 6000 & i
& i (B) Ta F w@mn
T: 9000 .
o 44 faﬁﬁ fa) A
(D)Iqﬁﬁﬁ@ (D) 37 & & T § FUF
E ,
ol il ) T a A

43MW%WWW*W 47. m—q-a{ﬁﬁ,ﬁiﬁiﬁiﬁ-ﬁﬁﬂﬂﬁm%

¥ g, gEn #e, w Fem e, A | i
o e i sy A e e = 5 R,

T foan wn wr?
(A) B0 (A) P s
(B) TR (B) ¥1egd T A
(C) v (C) TEIRA STH x
(D) 3% A 8 UF 4 (D) T 4 A 0 D sifir
(E) 379 8 & %13 A€l (E) 394 § | F1§ e

44.%%_w@ﬂ_ﬁﬁ}:mw%ﬁﬁ 48. T A frw uftrg v 3 3 wa F W W
ﬂmuﬁlﬁﬁtﬁﬁﬂmmiﬁm fasrAm & g AMEym f U I aw @

HaIm 1 £ wrgn i o7

(A) TR & (A) ®itE

(B) TgEZ Hl (B) 9%

(C) ®rd &l (C) FORTA

(D) i & @ (D) T A A @

(E) 394 # & #§ T (E) 37 & & %1 7
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College was | 5

5 Women's In 194 0,

. Vinohs
) atn i icties”? . o
" Phi'h"r'f'c fllowing S Satyagraha from larteq lndh"idUI
founded by whit
{A € | .
© Jesus ) N'ldlad in thda dlslr,ct G
(A) Society of Jes . . B
e nar, Maharaehlra
(B) Irish Christian Bro .

ic Carmel
(C) Sisters of the Apostolic C

(D) More than one of the above (E) None of the aboye
, 3.7
(E) None of the above Mhe COllgl'ess took a Critica] Stand oyer th
ontford Reforms j, 1918, which feq to
break up wit

S0. Who among the following headed the two ' -
Boundary Commissions set up to delineate ' arand Chintamapj ,,,
the intemnational frontiers between India and

Pakistan in 19477 (A) Servants of 1ngi, Society

(A) A. P. Moon : (B) Swaraj party

(C) Indian National Libera] Federation
(B) A. V. Alexander

(D) More than one of the above

(C) Cyril Radcliffe (E) None of the above

(D) More thap one of the aboye 54. The Cabinet Mission was sent to India for

i no?
(E) None of the above which of the following?

I. To establish a national government

*L. e ntroduced  ghe system of Mahalwari 2. To work out a constitutional arrangement

for the transfer of power

(A) Lord Comwailig 3. To work out the details of Jinnah's

demand for Pakistan
(A) 1 only
(B) 2 only

3 onl
C Of the ab() (C) n y h b
than one of the above
(E) None of th, above (D) More
(E) None of the above
02/F HfCCf’PT~20233144~ A
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49. 1940 ¥, wA wRRen wwfemem ) wE
foafafas A} v g g 6 18 67

(A) BEEd i frag
(B) maftw fFfvaaa sad
(€) foredl o1t 2 widfers Fit
(D) 37T A A F W v
(E) 394 # 8 +18 T
50. T 4 fr@ 1947 & i 3R FEHA % ¥
MMW%WW%%@I
drm & g o a?

(A) To do 71

(D) 395 # @ 7F A A
(E) I 3 @ #1§ ¢
51, fra3 @M@ § we@Er adew el A
A $17
(A) @TE FHafca
(B) #ez BEA
(C) =ité ¥fem

(D) 37 # A v A S

(E) I § B F1§ 7
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52. |940ﬁfaﬂmqﬁﬁaﬁﬁvﬁmmﬂ
iy At

(A) @ for & A, T
(B) TaAT, HETT;

(C) w—w,%{a

(D) 3T & A TF A AE
(E) 37 & A #1§ T

53.

(D) 3T 1 & TF | AT
(E) 394 | | FI$ 741

54, ¥z P fefafas § 3 fres fog wma

S T Y
1. & TP W ) e ¥ fog

2 WM ¥ we@Awm ¥ v ww wAWEE
gy A F F fog

3. ufdwm & fe fasn ) g F <0 )
FW FA & fore

(A) Fad |

(B) ¥d@ 2

(C) &dad 3

(D) e § A vk ¥ A
(£) 394 o | &8 T8
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35. Who among the following made an of;erh 0
Humayun that he would surrender Bihar

and pay an annual tribute of 10 lakh dinars
. : ?
if he was allowed to retain Bengal’

(A) Sher Khan
(B) Bairam Khan
(C) Bahadur Shah
(D) More than one of the above
(E) None of the above
. The Vikramshila University was established
by
(A) Dharmapala
(B) Devapala
(C) Gopala
(D) More than one of the above

(E) None of the above

57. Who among the f,

llowing wag the first
Govemor of Bihar?

(A) Sir James Dayid Sifton

(B) Sir Hugh Doy

(©) Sir Maurice Garnjer Hallett
(D) More than ope of the above
(E) None of the aboye

02!FH!CCfPT~2023f 144-5
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58. Who was the author of Mahatmq
and Bihar, Some Reminiscences

rf ffndh i

(A) J. P. Narayan

(B) Karpoori Thakur

(C) Dr. Rajendra Prasad

(D) More than one of the above

(E) None of the above

59. Which is the oldest church in Bihar?

(A) Luke’s Church

(B) Stephen’s Church

(C) Padri Ki Havelj

(D) More than one of the above

(E) None of the above

60. The late actor Kumudlal Ganguly, also

known by his stage name Ashok Kumar,
was born in which of the following cities
of Bihar?

(A) Munger

(B) Bhagalpur

(C) Patna

(D) More than one of the aboye

(E) None of the above

[ Conrd.
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faﬂﬁwfaqﬁ'@aﬁﬁ?ﬁmwﬁam

w3 e oo #) e e fon o AR
R TE W AR FQ R T @ a8
# waffa = ¥ ek 10 w@ A A S
wgratd 3fda :m?

(A) TR
(B) s @H
(C) vEIgl 9IR
(D) Tﬁﬁﬁ?ﬁﬁﬂﬁﬁ

(E) 399% 3 | 18 e

i

(A) T

(B) ¥

(C) e

(D) 7 | 4 v & Ay
(E) 3ude # & #1§ ¢

T | faen & yum TsguE #9947
(A) = w2 favm

(B) ®mam 2

(C) W whice mifm ¥ere

(D) 39w &% A o & i

88, mErew A vz fawEm, wm afian,

(E) 3w 4 & % 7l
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# 47

(A) Fo o T

(B) i 3T

(C) o T3 THI

(D) 3w § & T & A
(E) vfer & @ F1 T

59, forer a1 FaR QAT TR - 27

(A) TfF 9
(B) ®IH ¥

(C) gt 1 Bl
(D) 3P A A vF | fF |

(E) 394t A | %18 78

60. fem sfia Fogara e, fird 3 et

AW STEE AR A St S S R, @ o faEn
& fretfafad § Q g e 3 371 917

(A) HiL
(B) STTeryt

(C) 921

(D) 9% & | ws A stfirg
(E) 39% & § 918 ¢




61. Which of the following Union MIT\ISIFICS
recently launched the YUVA 2.0 Scheme
in 20227 .

(A) Health and Family Welfare Ministry
(B) Education Ministry

(C) AYUSH Mantralay

(D) More than one of the above

(E) None of the above

62. The Ministry of Home Affairs has completed
the Mother 'Tonguc Survey of India (MTSI)
in November 2022 with field videography
of the country’s how many languages?
(A) 40

(B) 233

(C) 576

(D) More than one of the above

(E) None of the above

63. Which of the following  committees
submitted a report on gas pricing,
recommending  complete pricing freedom
from January 1, 20262

(A) Arun Goel Committee

(B) Kirit Parikh Committee

) P.K Mohanty Committee

(D) More than one of the above
(E) None of the above

64,

(A) Surat
(B) Bhopal

(C) Navi Mumbai

(D) More thap one of the above

(E) None of the aboye

02/FH/C C/PT-2023/ 144.5
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65.

66.

67.

The Prime Minister inaugurated the first
greenfield airport ‘Donyi Polo Airport’
which of the following locations?

in

(A) Dholka
(B) Itanagar
(C) Dibrugarh

(D) More than one of the above

(E) None of the above

Which animal has been approved as a food
animal by the Food Safety and Standards

Authority of India (FSSAI) in November
20227

(A) Himalayan yak
(B) Mountain goat
(C) Himalayan tahr
(D) More than one of the above

(E) None of the above

India’s first floating financial literacy camp
was organized recently by India Post
Payments Bank in which of the
locations?

following

(A) Srinagar
(B) Andaman Islands

(C) Kerala

(D) More than one of the above

(E) None of the above



61.

62. T8

63.
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. frafafaa § @ fre we ) @ wae, 2022

frfafias A A frm ¥ha wrem 3 g@ @ 3
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(A) TR T TR AT

(B) fhen e

(C) ¥y HAH
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(E) I A A H T

T Y FEE 2022 B oW H feEe
vl it fiee AREUR F @y W™
TR FAEW (T Ao To ge) FW H
qu fam 27

(A) 40

(B) 233

(C) 576

(D) 394 § A TF W AfuF

(E) 39d% § 8 F1§ &

St @ e W 3 1 w0, 20263 |
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L(;; 3% g At

(B) Ttz wifta wfufa

(C) o Fo dred wfhfd

(D) 394w § & TF 4 HAfu

(E) 39 # @ #1¢ T

% vgEn W few FE0-gE ARG q
gantaa Tt fFan @

(A) g

(B) WA ~

(C) o ek

(D) 3% 3 | F A A

(E) 37w & ¥ #18 Td

21

65gmﬂiﬁﬂ%ﬁ'ﬁﬂﬂﬁ¥qmﬂmm

67.

Wﬁéw‘a‘rﬂﬂm@m
gz fr’

(A) BEH

(B) ¥

€) feam

(D)aqgmﬂﬁqmﬁm

(E) I § & FE A

7
. o R A T 2022 H A W G

o W S (Tho THo THo o STE°)
m@@mm%mﬁaﬁﬁaﬁmwé?

(A) femrerh a5

(B) WIEA F&{l

©) W-m

(D) 37 & ¥ 0% A A

(E) 39w # & H13 7

WId &1 Y wefen fadfa wama firfa &

# 3 R 9 digw ¥ o Aefafea § Y
e R w e e mn a?

(A) R

(B) 3ienm Y wyg

(C) ¥

(D) 3T A A & A i
(E) 394 ¥ R 918 7
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68. The Presiden! of 1 ‘
K&MRl‘I‘A' .\np(fru .I
which of the follow ing

(A) K haragPu’
(B) RBombay

(C) Guwahati
'€
(D) More than on¢ of the abov

(E) None of the above

ndian Air Force Day, celebrated
2, an hour-long  air
fts was carried out

69. In the 90th I
on 8th October. 202
ty aircra

display of eigh i
following locations:

over which of the

(A) Gateway of India, Mumbai

(B) Dal Lake, Jammu and Kashmir

(C) Sukhna Lake, Chandigarh
(D) More than one of the above

(E) None of the above

70. Which month of the year is celebrated as
Rashtriya Poshan Maah or National Nutrition
Month under the Poshan Abhiyaan of the

Government of India?
(A) May
(B) September
(C) July
(D) More than one of the above

(F) None of the above

71.

72.

73.

74.

Wh}“ ig 'he nam

N € of
1wdule nf(?hjna‘s Tiarc(- ntly lay
s I
(A) Tianhe e e Spac i g
€ Kr :
(B) Wt.‘nli;ln o
(C) Mcngt.an
(D
) More than on
(E) cof
None of the g he aboy
Ove
Whlch of the fi
Volcapy erupy
Worlq
X h larga.
(A) Moun St “ih3 o
, - Helepg Tt
) Mayp, L
(©) Haleaka]

(A) Michael Ondaatje

(B) Pradeep Mathew

(C) Shehan Karunatilaka

(D) More than one of the above

(E) None of the above

What was the theme of the World Space
Week, 20227

(A) Women in Space
s Improve Life

(B) Satellite
bility

(C) Space and Sustaina

(D) More than 0n¢ of the above

(E) None of the above

| {‘cl-’”‘f‘



68.

69.

70.

02/FH/CC/PT-2023/144A

TE ¥ W A feffe § A R
o oy T VR
(A) TR

(B) ==

(C) TaRé

(D) ¥ 3 3 w% A sfirs
(E) 394% ¥ 3 #1 7
RW.DOEDﬁmWOﬁW'ﬂg
%mﬁaumsmﬁmw%t@mmm

v fefafas 3 3 o wm w 9EiE
& ™

(A) 23 &1 3fea,

(B) & #id, 7 3N Fwdi

(C) F& 9, 9Eme

(D) 37T | ¥ & | A=

(E) 379 # @ #1§ 78

YR TR F 9 AfEe ¥ qed @ & fFe

TR F W 9 W 9@ A9 YA 6e
&9 § g oA 8¢

(A) W&

(B) o

(C) e

(D) 3% 4 | & B HuF
(E) 37 & & %18 7

.

Tz!

73.

74.

dh%fﬁvﬂfﬁﬂ'mmrm%mﬁﬁafsa
fapm o ufmﬂ@{awmw&f

(A) forr

(B) af

(C) oo

(D) ‘qui?ﬁﬁﬁr{%ﬂ v
() I0f 1 & #1§ 7@

ffafad § @4 #-m fam F1 wEE T
e 3, 9 fod 38 @ Al Am

21 17

(C) eI

(D) 7w & & TF @ A

(E) 399w 1 @ FI8 T

i A R T @ § T AW, ¢ d9 5

3fF wret aeRer & forw 2022 F: R g
Pren?

(A) Hr S

(B) Wi By

(C) TET FRUceTh

(D) 3 A A v | srfu
(E) 39 A @ #1

fan s wwre, 2022 ) o w0 o7
(A) srafie A ahd

(B) Fuue Sfiaq &) At w9 3

(C) srafe i faa

(D) 394 # & w% @ s

() 39 & @ #r{ e
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7S, Which of the following laboratories claimegy

a historic Melear fusion breakthroug}, in
December 20229

(A) WWrence {ivermore National
Laborat(,,-y

# 02k Rigee National Laboratory

©) Log Alamos Nationa| Laboratory

(D) More thap one of the aboye

(E) None of the above

@ Which  of the

following is
Dictionary’s word

COI!ins
of the year 20229

(A) Permacrigis
(B) Caroleap
©) Lawfare

(D) More than one of the aboye

(E) None of the aboye

Mow

79,

80.

< 1
fqrr le:al
h h
(A) hing 1% \
Hj) JaDan
a
D.
( ) M(}r‘e ”]an
¢

(E) N, f[he abﬁ‘re

Ne Of[ o abﬂ

Ve

Which

f
anng, the ﬁ}”ow,'ng -
Steamt that It had gu%sj gf‘.ﬂCEes

Propel jtg EQUULEL'SS Olly geg

§ eCrafn

( ) SUPARC
(C) JAXA
(

What is the name of Tesla humangig robot
launcheg in October 2020

(A) Optimus

(B) Atlas

(C) Pepper

(D) More than one of the above

(E) None of the above

[ Contd



75‘ 33 fom it 3 fww 2022 3
& el ANER dEm avam o

76.

7.

famn w1
(A) Hﬁ“mmm
(B) 3 i JEd dEnz

| g © T AAHE T e

(D) 799 ® 8 0% ¥ Auw

(E) 9% 8 ® %18 TE

s femmd #1 98 % 3 T 2022
frefafiaa § & #R-71 27

(A) Permacrisis

(B) Carolean

(C) Lawfare

(D) 37 3 @ 7F @ AfuF

(F) i & & #E T8
ﬁqﬁfﬁdﬂﬁﬁﬁ?ﬂ%ﬂﬂﬂ#ﬁ%mﬂﬂﬂﬁ

cop27 ¥ dm Fatga gu ey TeEuA
EaRiCUCRERIN

(A) Tl

(B) ﬂﬁjﬂ

(C) ¥

(D) e § A TF A AT
(E) 374w § 3 FE T

02FH/CC/PT-2023/144A

25

L]

?B.wﬁqgeﬂmﬁﬂﬁm%gﬁmﬂ'ﬁﬁ:q
#ﬁ:ﬂlﬁﬁoaﬁo

frafafan § @ fa Siafe T 3 T§ =T
# f5 393 ¥W EQUULEUS At I
3 ger & fag W IGm
forn 27

9.

(A) 7 (NASA)

(B) Far (SUPARCO)
(C) S (JAXA)

(D) I A A TF @ AT
(E) 3% 3 & #1¢ e

Wzozzﬂmmmm@mﬁaﬁz
&1 74 AW }7

80.

(A) st

(B) Tze

(C)

(D) 39 A A 7 A aifirs
(E) 394 1 @ % 7
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olar power plant” has beep
g MU

81. The first ‘floatin s

i ce 1N
built at which place

(A) Dilbarpuf: Darbhangd

(B) Jamalpur; Darbhangd

(@ Kadirabad, Darbhanga

(D) More than one of the above
(E) None of the above

£2. According to the Economic Survey for the
year 2019-2020, which district has lowest

per capita income?

(A) Sheohar

(B) Araria

(C) Sitamarhi

(D) More than one of the above

(E) None of the above

84. WhICh sport  ha

s S been included in 4
D ndia Womep's Tournamf:m I"
ITSt time? ; rh
(A) Cricket

(D) More than one of the above

(E) None of e above

85. Whi
Which of the following has been awarded

the Geographica) Indication (G Tag in

August 20229
(A) Applique (Khatwa) Work of Bihar
(B) Sikki Grass Products of Bihay
(C) Mithila Makhana ‘
(D) More than one of the above

(E) None of the above
86. Which of the following has been added to

the UNESCO World Heritage List in 20227

(A) Astronomical Observatory at the Langat

Singh College

(B) Mahabodhi Temple Complex at Bodh
Gaya

(C) Archaeological ~Site of ~Nalands

Mahavihara at Nalanda
More than one of the above

(D)
(E)

None of the above



81.

82.

02/FH/CC/PT-2023/144A

W g W s | d P
R R 9 T RY

(A) femery, Tom
(B) ISR, Tm

(C) FRER, T
(D) 394w % 4 1% ¥ AU

(E) 3w AR 7 T

i 2019-2020 F HfdF Fa&W F AR, 4

73 91 371 =fF 913 T99 FH 87

== {'u}"is?v
(A) T OEID
(B) #f
(C) a1 H‘c.j'i

(D) 394w § 4 TF B AluF

(E) 394 A @ #1897

i 2020-2021 % ferg A s w@e o o

frdd % srgam, faem Tea #1 @R fEEn @
(A) 1008822

(B) 10084 35

(C) 100 %@ 52

(D) 3% # A T A AF

(E) 3w # & #1§ T

27

84, ) #fem wfen Zafite i wreh an Frm @ A

85.

86.

wifivel foem mn 27

(A) fiz

(B) % wrfwm

(C) st

(D) e 8 & UF § il

(E) 39 H 8 FI5 T

frefafas & @ R s 2022 § e
W (o o) I & grwfra o a1 R7

(A) fagw =1 ofier (@) 7%

(B) faem & fadl w318

(C) fafaen warn

(D) 3% A 8 uF A s

(E) 394 0 & 1§ 7€l

freaferfaa # @ fa ad 2022 8 e ) fag
wet gl A Sien g e

(A) @ fire &Tcs A} witelia duene

(B) suman feud weeila ufa wimm

(C) Tl A Aretal werfagr &1 yuaifeis e
(D) 394 A & vF | i

(E) 7 3 & N i
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(87)

88.

89.

90.

In the year 2020, Bihar gained the rank
Out of 36 States in the Ease of Doing

Business, awarded by Business Reforms
Action Plan (BRAP).

(A) 23rd

(B) 24th

(C) 25th N
(D) More than one of the above I’:‘!lfrr'
(E) None of the above (217 (8]

Ganga Jal Aapurti Yojana was inaugurated
by Chief Minister Nitish Kumar
November 28, 2022 at which place?
(A) Lakhisarai

(B) Rajgir

(C) Bodh Gaya

(D) More than one of the above

(E) None of the above

on

Which of the following associations/boards

declared equal pay for men and women
players in October 20227

(A) Bihar Cricket Association

(B) Board of Control for Cricket in India
(C) Gujarat Cricket Association

(D) More than one of the above

(E) None of the above

The urbanization of the State has increased
very rapidly in the last ten years. According
to the 2011 Census, the level of urbanization
in Bihar was just _ percent, which has
increased to _ percent at present.

(A) 11:3, 153

(B) 12-2, 131

(C) 144,155

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A
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91.

92.

93.

94.

9s.

In the end of its mountainous Journey at

Attock, the Indus River is joined by whicy

river from Afghanistan?

(A) Amu Darya

(B) Kabul River

(C) Helmand River

(D) More than one of the above

(E) None of the above

Which one of the following is the well-
publicised wildlife campaign in the world
launched in 19737

(A) Project Tiger

(B) Lion Project

(C) Sunderbans Project

(D) More than one of the above

(E) None of the above

Which of the following statements is true

about troposphere?

(A) Itisthe topmost layer of the atmosphere

(B) The temperature at this layer increase
with the height.

(C) Its average height is 13 km.

(D) More than one of the above

(E) None of the above

The southern continent broken from Panga

is called

(A) Laurasia

(B) Gondwanaland

(C) Pacific Ocean

(D) More than one of the above

(E) None of the above

The region and
continent are situated near
(A) the Sahara Desert

(B) the North and South Poles
(C) the Amazon Basin

Arctic the Antarc

(D) More than one of the above
(E) None of the above



g7, fasr Roid YawH W (do 3o To o)
g @ 2020 H =R FH F arare § fagw 3
TR Y wliE A

(A) 234

(B) 244

(C) 254

(D) 3% # A & A A

(E) 39w & } 1§ &

28 FE, 2022 A gEEd v FA W TN

A A 1 IgaeA fre wm W i
T 9t

(A) aEETE

(B) TSR

(C) <ama

(D) 374w & A wF § fuF

(E) 39w A & F T

frafefiaa 3 @ fre Caifgm /A€ 3 IR
2022 & qeu ol wfeen faenfedt & fore @M
3 F gron A7

(A) form firdre TaIfTEA

(B) v frbe e A

(C) T frere TRIfTE

(D) 374% & ¥ wF @ s

(E) 394 & @ 1§ 7

fio 2a @8] § T F TEGET qgq A< A
a@ d1 2011 A swE F agER fww A

TEOFT F &R wfa @, N qgR

(A) 11:3, 153

(B) 122, 131

(C) 144, 15-5

(D) 3T & ¥ T A A
(E) 394w # & #I§ T

88.

89.

90.

02/FH/CC/PT-2023/144A
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91.mﬁmmm%mﬁﬁgqﬂ
e £ e T & e /7
(A) 3 fen

(B) F1ge T4

(C) Ferie 7

(D) e & & 7F A AF

(E) 3o § & F¢ T8

R & @ F-a fwa # g F=EE
v &, Frd 1973 3 77 Pen T e’

(A) e T

(B) W Mo

(C) G TR
(D)amj?ﬁﬁﬁ@ﬁaﬁa

(E) 37 # & R T

e ¥ ar § Prafefaa # § FH-8 FH
w4 7

(A) T@ aTgHEH I T FH T B

(B) =0 G 1 qHE 1§ F WY =g 8|
() T siraa = 13 fFo o 1
(D)arréﬁﬁ%qm%aﬁm

(E) 3T & & F¢ 7

94, ¥ & g2 qu el w B TN FEA &7
(A) @A 4

(B) TieaMIcts

(C) WId TR

(D) IFw & ¥ & A AfuH

(E) 39 & @ #g T

w8 ol siedfe werd s e

92.

93.

@5

(

—

\

9s.

(A) e R

(B) It afv fereft ya
(©) s A

(D) 9w # A & A A
(E) 394 # & #1d T
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96. Which States of India have common border

with Myanmar?

(A) Arunachal Pradesh, Nagaland, Manipur,
Mizoram

(B) Arunachal Pradesh, Assam, Manipur,
Mizoram

(C) Manipur, Mizoram, Nagaland, Tripura

(D) More than one of the above

(E) None of the above

97. Which one of the following is the world’s
richest region from a marine biodiversity
perspective, comprising 21 islands with
estuaries, beaches, forests of the nearshore
environment, seagrasses, coral reefs, salt
marshes and mangroves?

(A) Gulf of Mannar Biosphere Reserve
(B) Nanda Devi Biosphere Reserve
(C) Sunderbans Biosphere Reserve

(D) More than one of the above

(E) None of the above

98. In which type of climatic region do Uttar
Pradesh and Bihar fall as per Kdoppen’s
clme?

(A) Cwg

(B) Aw

(C) Dfc

(D) More than one of the above
(E) None of the above

99. India’s territorial limit extends towards the
sea up to how many nautical miles’/km from
the coast?

(A) 16 nautical miles (about 259 km)
(B) 12 nautical miles (about 21-9 km)
(C) 10 nautical miles (about 19-9 km)
(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A

R

100. Which of the following river valleys i i
in coal reserves in India? A 06, T ¥ WY
(A) Damodar River Valley forerdh 7 |
(B) Son River Valley (A) RS
6 (C) Mahanadi River Valley (B) 0w 5_
QA 7
Aad (D) More than one of the above (©) W,
\l“‘ ['] D} ‘.{‘Tiiﬁ -ﬁ
(E) None of the above ( ’
(E) T A
101. Whi i ;
ich of the . followln.g stzftemenls is o7, AR 3
true about sugar industry in India?
o @ 7
(A) It is a weight-losing industry. HAEE,
(B) Maharashtra has emerged as a leading HIA T, '
sugar producer in the country. * W 21
(C) Uttar Pradesh is the second largest (A) mq:
producer of sugar. (B) T =
(D) More than one of the above © __’_17“’
(E) None of the above (D) ¥4
(E) 37
102. Towards the end of summer, there are
pre-monsoon showers which are a common 98. FNH ﬁ
phenomenon in Kerala and coastal areas of fom
Karnataka. Locally, they are known as A €
(A) Blossom showers (B) A
(B) Norwesters © L
(C) Mango showers (D) -
(D) More than one of the above (E)
(E) None of the above 99, WA
Ho
103. The atmosphere is mainly heated by the A)
(A) short-wave solar radiation (B)
(B) reflected solar radiation (C
(C) long-wave terrestrial radiation (D
(D) More than one of the above (E
(E) None of the above
02/FH/
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96.

97.

98.

o ¥ =

(A) ST w2, T, Hhg, R
(B) IS e, a‘?ﬂ,jﬁrg(,fﬁaﬁm
(C) whrg, frsrm, MY, g

(D) 394 8 A & A 7

(E) 394 & A F1§ T

frerfefn § 3 Fr-m wgd 9 R

Wf#gﬁmmwﬁmq}ag,ﬁqﬂ
wreeyE, 95 w2, Freead wiewm F 9,
Hﬁw,mﬁﬁﬂ,mwmﬁﬁtﬂ
¥ |y 21 g w7

(A) TR G@TE aEeh fed

(B) a1 ¥ amehR e
(C)_gzﬁam‘mﬁ’mﬂaé

(D) T # & ©F & A

(E) 37 & & F1 T
Wﬁaﬁmzﬁw%wmm#ﬂ
ﬁmﬁﬂm%mmﬁmﬁ?
(A) Cwg

(B) Aw

(C) Dfc

(D) T # A & A fUF

(E) 39 # @ #1¢ T

.mﬁmtﬂm,mﬁﬁ?ﬁﬂaﬂtﬁa/m

o 7 wx A vt el g R .
(A) 16wgh dra (@mm 259 Fo o) &J{;L:
(B) 12 @gA Ha (T 21-9 fao o)

©) Tomtﬁa(awﬂ 19-9 fao Hio)

(D) T # A T A AU

(E) 374§ & FIE
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101.

102.

103.

lm.mﬁﬁﬂ%fﬁaﬁﬂm-rﬂﬁmﬂﬁﬁ

¥ wen & 7ya R

(A)zm‘r_a_ua’tma

(B) & 7 =&

(C) W 7 T
(D)w{{?ﬁﬂﬁ@ﬁ-ﬂfﬁaﬁ

(E) I # 8 FE T

wr@ § < w@m % a3 frfafaa @ @
Fa-T1 o TE &7
(A)%mwmﬁmmh
(B)mémﬁamvﬁeﬁd’tmﬁﬁ%ﬁwﬁ
~ IR

(©) mmﬁm{wwﬁa@m%l
(D)zqzjjﬁﬁﬂ@ﬁatm

(E) 3 # @ F T

FAleF F A

(©) ﬁ:_hma'é
(D) g § A & @ oS
(E) 394 § & #g 7

A e w9 @ fhe g A /7
(A) @g-an Hh fafem

(B) wuafda € fafeor

(©) ﬁimmﬁ%m

(D) 394w A A & A AU

(E) 394 8 @ ¢ 7
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104.

10S.

106.

Which of the following States of India
borders with the maximum number of
districts in Bihar?

(A) Uttar Pradesh

(B) Jharkhand

(C) West Bengal

(D) More than one of the above

(E) None of the above

Which of the following is the last railway
station of Bihar in the train route from
Bhagalpur towards Mirza Cheuki?

(A) Pirpainti Railway Station

(B) Ammapali Railway Station

(C) Kahalgaon Railway Station

(D) More than one of the above

(E) None of the above

With reference to the mineral production
in Bihar, consider the following statements :
I~ Rohtas has the highest deposit of
pyrites.

2. Limestone s found in Kaimur

(Bhabhua), Munger (Monghyr) and
Rohtas districts.

Gold deposits are found

in  Jamui
district.

Which of the slatements given above is/are
correct?

(A) 3 only

(B) 1and?2 only

(C) 1and 3 only

(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/ 144-7
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107. Phalgu, a sacred river flowing in R,

is formed by the confluence of which
the following rivers?

(A) Lilajan and Son rivers

(B) Son and Mohana rivers -
(C) Mohana and Lilajan rivers );Ig:
(D) More than one of the above

(E) None of the above

. In Bihar, tea gardens were established for the

first time in which of the following places?
(A) Thakurganj

(B) Bahadurganj

(C) Supaul

(D) More than one of the above

(E) None of the above

. Choose the correct order of the following

districts of Bihar as per the ascending decadal
population growth (2001-2011 ).

(A) Siwan < Kishanganj < Madhepura
(B) Madhepura < Kishanganj < Siwan
(C) Kishanganj < Madhepura < Siwan
(D) More than one of the above

(E) None of the above

. Which food industry dominates among the

agro-based industries in Bihar?
(A) Cereal-baseq industry
(B) Pulses industry

(C) Sugarcane industry

(D) More than one of the above
(E) None of the aboye
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108S.

106.

1 v foell @ e 27
(A) m“m A
e

3

g 3

(B) FEs g

(C) dimamm 2

(D) 39T H A & A A

(E) 39 A @ +1§ 7

frrforfaa § § FR-w1 wrreq @ firel S
3R Yol § faem 1 sifom R R ¥

(A) de T R

(B) HIITEH o R

(C) Feara e R

(D) 39 | A & W Afi

(E) 394 & 4+ T

fren # whe s ¥ wed #, fefife
Tl R feram A :

1. gam & grTge F @i HeR 2

T-FeR (), PR Tea
et & orn s R

3, g i W 3 e T o &

2.

I A @ FH-T /A YA A0 /R
(A) &ad 3

(B) %ad 1 3R 2

(C) Faa 1 3 3
Lo)mgmﬁawam

(E) 394w & & FI§ 7
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108.

109.

107, fier 3 7 e o A e Pttt A 8

f Afl % @ A T 27
(A) e 3 a7

15, (B) a5 3t wEm 7@
x'{'j(c) ﬁz@ﬁ(?ﬂwqﬂ

(D) 34 # 3 7 @ A
(B) 3w 4 @ Fé 7

fere 7§ Preferfaa 3 A o wm @ TEed A0
T amEl e i

(A) FFHO

(B) wETgU

©) g

(D) 30 # | TF B AfF
(E) 39 # § FI§ 7

fien & frfofen el &1 sRiE Fwem
FAEE gfE (2001-2011) & 3FFER HE #H

110.

e

(A) "M < e < maga
(B) ®UY < fFyame < diam
(C) T e < wiqu < dam
(D) 399w ¥ }A @ A Afus
(E) 37 & § # 7
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Large number of thin strips of black paint
are made on the surface of a convex lens of
focal length 20 cm to catch the image of
a white horse. The image will be o

(A) a zebra of black stripes Qf.-g’o
(B) a horse of black stripes

(C) a horse of less brightness

(D) More than one of the above

(E) None of the above

Shrillness of sound is determined by
(A) amplitude of sound

(B) wavelength of sound

(C) velocity of sound

(D) More than one of the above

(E) None of the above

Which of the following photoelectric devices
is most suitable for digital applications?
(A) Photovoltaic cell

(B) Photoemitter

(C) Photodiode

(D) More than one of the above

(E) None of the above

Ball bearings are used to convert static
friction into

(A) drag

(B) sliding friction

(C) rolling friction

(D) More than one of the above

(E) None of the above

34

115. A goalkeeper i

116.

117.

n a game of football pulls his
fter holding the ball shot

hands backwards a
oalkeeper to

at the goal. This enables the g

(A) exert large force on the ball

(B) increase the force exerted by the ball

on hands

of change of

(C) decrease the rate

momentum

(D) More than one of the above

(E) None of the above

Which among the following is a positively
charged particle emitted by a radioactive

element?
(A) Beta ray

(B) Alpha ray

@F‘E](C) Cathode ray
kel

(D) More than one of the above

(E) None of the above

Centripetal force is responsible to

(A) keep the body moving along the circular
path

(B) fly the object along a straight line

(C) independent motion of the object in
space

(D) More than one of the above

None of the above

(E)
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118. Which of the following energy changes

involves frictional force?

(A) Potential energy to sound energy
(B) Chemical energy to heat energy
(C) Kinetic energy to heat enérgy
(D) More than one of the above
(E) None of the above
119. A bus is moving along a straight path and

takes a sharp turn to the right side suddenly.
The passengers sitting in the bus will

(A) fall in the forward direction
(B) bent towards left side
(C) bent towards right side
(D) More than one of the above
(E) None of the above
120. Before playing the orchestra in a musical
concert, a sitarist tries to adjust the tension

and pluck the string suitably. By doing so,
he/she is adjusting

(A) amplitude of sound
(B) intensity of sound

(C) frequency of the sitar string with the
frequency of other musical instruments

(D) More than one of the above
(E) None of the above

02/FH/CC/PT-2023/144-A

121. A form of matter has no fixed shape but it has
[ a fixed volume. An example of this form of

matter is

(%], (%]

e
(ry [-JI (A) krypton

(B) kerosene
(C) carbon steel
(D) More than one of the above

(E) None of the above

oy HT

122. Some metal oxides react with acid as well as
base to produce salt and whitet. They are
known as amphoteric oxides. The examples
of amphoteric oxides are

(A) Al,03 and ZnO

—

VLRI
([}_) Al,03 and CuO Nt\i\h*’ tho
(C) CuO and ZnO

(D) More than one of the above

(E) None of the above

123. Which gas contributes to global warming
through its greenhouse effect?

(A) Nitrous oxide
(B) Methane
(C) Carbon dioxide

(D) More than one of the above

(E) None of the above
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124. Acids react with metal carbonates to liberate

1285.

126.

64

127.

gas.
: >
(A) €O, NOES ot
@) co ppto T et
©) H,

([2-)— More than one of the above

(E) None of the above

Which acid is described as HOOCCOOH ?
(A) Oxalic acid

(B) Acetic_.acid

(C) Carbonic acid

(D) More than one of the above

(E) None of the above

You have been provided with three test tubes.
One of them contains distilled water and

the other two conlalﬁ[{amdlc solution [and
albasic solution] res

respectively. Which of them
will tumm to que"J

e —

(A) Acid

(B) Base

(C) Distilled water

(D) More than one of the above

(E) None of the above

The odour of acetic acid resembles that of
(A) tomato

(B) kerosene

(C) vinegar

(D) Mo—r; than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A
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1

128. Why does dry HCI gas not change the

(s Ir/.(

f‘l ‘1|']

129.

130.

colour of dry litmus paper?

(A) Blue litmus becomes dry in the presence
of dry HCI gas.

Litmus

(B)

No H;0" ions are present.

changes colour only in the presence of
H;0" ions.
(C) HCI gas acts as a dehydrating agent.
(D) More than one of the above

None of the above

(E)

Detect the odd one.

(A) Setting of cement

(B) Burning of coal

(C) Ripening of fruit

(D) More than one of the above

(E) None of the above

Which of the following statements about

diamond and graphite 1s true?

(A) They have same crystal structure. *
(B) They have same degree of hardness. v
(C) They have same electrical conductivity.
(D) More than one of the above

~

(E) None of the above
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131. The stomata open or close due to change

in the
(A) protein composition of cells

(B) amount of water in cells
(C) position of nucleus in cells
(D) More than one of the above
(E) None of the above
132. Chlorophyll absorbs

the sunlight.
(A) green and blue

(B) green and red

(C) red and blue

(D) More than one of the above
(E) None of the above

33. Which of the following is mot a correct

match?

(A) Thick, hard stem with branching near

base : Tree

(B) Weak stem which cannot stand upright :

Creeper
(C) Petiole : Attaches leaf to stem
(D) More than one of the above
(E) None of the above

Water reaches great heights in trees because

of suction pull caused by

A) absorption

B) transpiration

") evaporation

J)) More than one of the above
) None of the above

hich among the following is a character
chloroplast which makes them qualified

self-replication?
Presence of DNA only

Absence of RNA
Presence of both DNA and RNA

More than one of the above
None of the above

PT1-2023/144-A

wavelengths of

136. The parts of the skeleton that are not as harg
as bones and which can be bent are called a5

(A) carpals
(B) cartilage
(C) vertebrae
(D) More than one of the above
(E) None of the above
137. In lichen, a chlorophyll-containing partner,

live together.

CIR ™
:' ]’- jén
[s]-2([%]

(A) fungus and a bacterium
(B) alga and a virus

(C) alga and a fungus
(D) More than one of the above

(E) None of the above
. [Female Anopheles can be distinguished from

female Culex because it sits

(A) at an angle with substratum

(B) parallel to the surface of substratum
(C) at right angle to the surface of

substratum
(D) More than one of the above

(E) None of the above
139. The most important cell type associated with
the immunity of the body is
(A) platelets
(B) lymphocytes
(C) RBCs
(D) More than one of the above

(E) None of the above
140. Which one of the following statements is

(A) Muscles work in pairs.
(B) Muscles become shorter, stiffer and

thicker when contracted.
(C) Muscles can only push the bone.
(D) More than one of the above
(E) None of the above
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146. Which of the following statements is false?

147.

g

(B) Every rhombus is a parallelograntl/. [

(A) Every square is a rectangle

¥

(C) Every square is a rhombus.
v

(D) More than one of the above

(E) None of the above

In a family of some persons, B says that R
is the daughter of my sister 4, who is the
only daughter of 7. X is the child of T and Z,
who is the grandmother of H. X is the mother
of M, who is the only sister of H. X is
unmarried. If § is the spouse of 4, how is K
related to S ?

(A) Sister-in-law

(B) Wife of brother-in-law

(C) Brother-in-law

(D) More than one of the above

(E) None of the above

02/FH/CC/PT-2023/144-A
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148.

149.

150.

A

How many words, no matter if they %
meaningless, can be formed by the |y,
of the word ‘DIARY’?

(A) 5

(B) 10

(C) 24

(D) More than one of the above

(E) None of the above

Select the missing number from the givep
alternatives :
44 | 49 3?|
521 7 |41
58 |35(53
(A) 56
(B) 77
(C) 66

(D) More than one of the above
(E) None of the above

Find the missing number in the given series
following the same pattern :

15, 20, 32, 62, 118, 248, ?
(A) 322
(B) 368
(C) 428
(D) More than one of the above

(E) None of the above
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